

Mark	SellingMark	QTY	Weekly			Monthly			Cumulative	
			Proceeds	Avg. Price	QTY	Proceeds	Avg. Price	QTY	Proceeds	Avg. Price
<b>Elevation : HIGH &amp; MEDIUM</b>										
<b>Seller : HATTON PLANTATIONS PLC</b>										
<b>Factory : MF0300 ABBOTSLEIGH</b>										
MF0300A	FLORENCE CTC	7,340.00	7,509,600.00	1,023.11	7,340.00	7,509,600.00	1,023.11	352,481.00	364,560,020.00	1,034.27
<b>Factory Total</b>		<b>7,340.00</b>	<b>7,509,600.00</b>	<b>1,023.11</b>	<b>7,340.00</b>	<b>7,509,600.00</b>	<b>1,023.11</b>	<b>352,481.00</b>	<b>364,560,020.00</b>	<b>1,034.27</b>
<b>Factory : MF0545 EAST FASSIFERN</b>										
MF0545A	EAST FASSIFERN	0.00	0.00	0.00	0.00	0.00	0.00	3,000.00	4,300,000.00	1,433.33
<b>Factory Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>3,000.00</b>	<b>4,300,000.00</b>	<b>1,433.33</b>
<b>Factory : MF0548 KENILWORTH</b>										
MF0548	KENILWORTH	11,339.00	14,348,340.00	1,265.40	11,339.00	14,348,340.00	1,265.40	371,158.00	477,342,060.00	1,286.09
MF0548A	STRATHELLIE	240.00	184,800.00	770.00	240.00	184,800.00	770.00	34,802.00	32,162,360.00	924.15
<b>Factory Total</b>		<b>11,579.00</b>	<b>14,533,140.00</b>	<b>1,255.13</b>	<b>11,579.00</b>	<b>14,533,140.00</b>	<b>1,255.13</b>	<b>405,960.00</b>	<b>509,504,420.00</b>	<b>1,255.06</b>
<b>Factory : MF0595 DICKOYA</b>										
MF0595A	ADISHAM	6,857.00	8,268,140.00	1,205.80	6,857.00	8,268,140.00	1,205.80	372,035.00	447,297,640.00	1,202.30
<b>Factory Total</b>		<b>6,857.00</b>	<b>8,268,140.00</b>	<b>1,205.80</b>	<b>6,857.00</b>	<b>8,268,140.00</b>	<b>1,205.80</b>	<b>372,035.00</b>	<b>447,297,640.00</b>	<b>1,202.30</b>
<b>Factory : MF0790 STRATHDON</b>										
MF0790	STRATHDON CTC	3,280.00	3,169,600.00	966.34	3,280.00	3,169,600.00	966.34	101,439.00	111,429,000.00	1,098.48
<b>Factory Total</b>		<b>3,280.00</b>	<b>3,169,600.00</b>	<b>966.34</b>	<b>3,280.00</b>	<b>3,169,600.00</b>	<b>966.34</b>	<b>101,439.00</b>	<b>111,429,000.00</b>	<b>1,098.48</b>
<b>Seller Total</b>		<b>29,056.00</b>	<b>33,480,480.00</b>	<b>1,152.27</b>	<b>29,056.00</b>	<b>33,480,480.00</b>	<b>1,152.27</b>	<b>1,234,915.00</b>	<b>1,437,091,080.00</b>	<b>1,163.72</b>

**Seller : HORANA PLANTATIONS LTD****Factory : MF0044 MAHANILU**

MF0044	MAHANILU	0.00	0.00	0.00	0.00	0.00	0.00	16.00	196,000.00	12,250.00
<b>Factory Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>16.00</b>	<b>196,000.00</b>	<b>12,250.00</b>

**Factory : MF0066 GOURAVILLA**

MF0066	GOURAVILLA	4,117.00	5,151,100.00	1,251.18	4,117.00	5,151,100.00	1,251.18	154,191.00	196,301,700.00	1,273.11
<b>Factory Total</b>		<b>4,117.00</b>	<b>5,151,100.00</b>	<b>1,251.18</b>	<b>4,117.00</b>	<b>5,151,100.00</b>	<b>1,251.18</b>	<b>154,191.00</b>	<b>196,301,700.00</b>	<b>1,273.11</b>

**Factory : MF0159 STOCKHOLM**

Mark	SellingMark	QTY	Weekly			Monthly			Cumulative		
			Proceeds	Avg. Price	QTY	Proceeds	Avg. Price	QTY	Proceeds	Avg. Price	
MF0159	STOCKHOLM	5,722.00	7,434,600.00	1,299.30	5,722.00	7,434,600.00	1,299.30	265,009.00	340,395,900.00	1,284.47	
<b>Factory Total</b>		<b>5,722.00</b>	<b>7,434,600.00</b>	<b>1,299.30</b>	<b>5,722.00</b>	<b>7,434,600.00</b>	<b>1,299.30</b>	<b>265,009.00</b>	<b>340,395,900.00</b>	<b>1,284.47</b>	
<b>Factory : MF0584 FAIRLAWN</b>											
MF0584	FAIRLAWN	4,880.00	6,254,400.00	1,281.64	4,880.00	6,254,400.00	1,281.64	237,897.00	292,156,720.00	1,228.08	
<b>Factory Total</b>		<b>4,880.00</b>	<b>6,254,400.00</b>	<b>1,281.64</b>	<b>4,880.00</b>	<b>6,254,400.00</b>	<b>1,281.64</b>	<b>237,897.00</b>	<b>292,156,720.00</b>	<b>1,228.08</b>	
<b>Seller Total</b>		<b>14,719.00</b>	<b>18,840,100.00</b>	<b>1,279.99</b>	<b>14,719.00</b>	<b>18,840,100.00</b>	<b>1,279.99</b>	<b>657,113.00</b>	<b>829,050,320.00</b>	<b>1,261.66</b>	
<b>Seller : ELPITIYA PLANTATIONS PLC</b>											
<b>Factory : MF0013 NEW PEACOCK GROUP</b>											
MF0013	NEW PEACOCK CTC	4,440.00	5,219,200.00	1,175.50	4,440.00	5,219,200.00	1,175.50	196,913.00	236,290,010.00	1,199.97	
<b>Factory Total</b>		<b>4,440.00</b>	<b>5,219,200.00</b>	<b>1,175.50</b>	<b>4,440.00</b>	<b>5,219,200.00</b>	<b>1,175.50</b>	<b>196,913.00</b>	<b>236,290,010.00</b>	<b>1,199.97</b>	
<b>Factory : MF0220 DUNSINANE</b>											
MF0220A	DUNSINANE CTC	11,320.00	13,665,200.00	1,207.17	11,320.00	13,665,200.00	1,207.17	374,897.00	458,262,650.00	1,222.37	
<b>Factory Total</b>		<b>11,320.00</b>	<b>13,665,200.00</b>	<b>1,207.17</b>	<b>11,320.00</b>	<b>13,665,200.00</b>	<b>1,207.17</b>	<b>374,897.00</b>	<b>458,262,650.00</b>	<b>1,222.37</b>	
<b>Factory : MF0345 MEDDECOMBRA NORTH</b>											
MF0345A	NEW MEDDECOMBRA	2,330.00	2,876,600.00	1,234.59	2,330.00	2,876,600.00	1,234.59	143,839.00	175,576,910.00	1,220.65	
MF0345	MEDDECOMBRA NORTH	0.00	0.00	0.00	0.00	0.00	0.00	24.00	710,000.00	3,583.33	
<b>Factory Total</b>		<b>2,330.00</b>	<b>2,876,600.00</b>	<b>1,234.59</b>	<b>2,330.00</b>	<b>2,876,600.00</b>	<b>1,234.59</b>	<b>143,863.00</b>	<b>176,286,910.00</b>	<b>1,225.38</b>	
<b>Factory : MF0504 SHEEN</b>											
MF0504	SHEEN	4,410.00	5,229,400.00	1,185.80	4,410.00	5,229,400.00	1,185.80	122,302.00	142,342,260.00	1,163.86	
<b>Factory Total</b>		<b>4,410.00</b>	<b>5,229,400.00</b>	<b>1,185.80</b>	<b>4,410.00</b>	<b>5,229,400.00</b>	<b>1,185.80</b>	<b>122,302.00</b>	<b>142,342,260.00</b>	<b>1,163.86</b>	
<b>Factory : MF0697 NAYAPANE</b>											
MF0697	NAYAPANE	6,574.00	9,887,000.00	1,503.95	6,574.00	9,887,000.00	1,503.95	252,494.00	329,731,230.00	1,305.90	
<b>Factory Total</b>		<b>6,574.00</b>	<b>9,887,000.00</b>	<b>1,503.95</b>	<b>6,574.00</b>	<b>9,887,000.00</b>	<b>1,503.95</b>	<b>252,494.00</b>	<b>329,731,230.00</b>	<b>1,305.90</b>	
<b>Factory : MF0984 KAIPOOGALLA</b>											
MF0984	KAIPOOGALLA	500.00	590,000.00	1,180.00	500.00	590,000.00	1,180.00	126,576.00	152,831,440.00	1,207.43	
<b>Factory Total</b>		<b>500.00</b>	<b>590,000.00</b>	<b>1,180.00</b>	<b>500.00</b>	<b>590,000.00</b>	<b>1,180.00</b>	<b>126,576.00</b>	<b>152,831,440.00</b>	<b>1,207.43</b>	
<b>Seller Total</b>		<b>29,574.00</b>	<b>37,467,400.00</b>	<b>1,266.90</b>	<b>29,574.00</b>	<b>37,467,400.00</b>	<b>1,266.90</b>	<b>1,217,045.00</b>	<b>1,495,744,500.00</b>	<b>1,229.00</b>	

Mark	SellingMark	QTY	Weekly		QTY	Monthly		QTY	Cumulative	
			Proceeds	Avg. Price		Proceeds	Avg. Price		Proceeds	Avg. Price
<b>Seller : MADULSIMA PLANTATIONS PLC</b>										
<b>Factory : MF0217 EL TEB</b>										
MF0217	EL TEB	2,751.00	3,312,800.00	1,204.22	2,751.00	3,312,800.00	1,204.22	150,224.00	155,573,740.00	1,035.61
<b>Factory Total</b>		<b>2,751.00</b>	<b>3,312,800.00</b>	<b>1,204.22</b>	<b>2,751.00</b>	<b>3,312,800.00</b>	<b>1,204.22</b>	<b>150,224.00</b>	<b>155,573,740.00</b>	<b>1,035.61</b>
<b>Factory : MF0468 KEW</b>										
MF0468	KEW	2,330.00	2,626,600.00	1,127.30	2,330.00	2,626,600.00	1,127.30	126,938.00	143,185,080.00	1,127.99
<b>Factory Total</b>		<b>2,330.00</b>	<b>2,626,600.00</b>	<b>1,127.30</b>	<b>2,330.00</b>	<b>2,626,600.00</b>	<b>1,127.30</b>	<b>126,938.00</b>	<b>143,185,080.00</b>	<b>1,127.99</b>
<b>Factory : MF0486 KIRKOSWALD</b>										
MF0486	KIRKOSWALD	7,522.00	8,876,320.00	1,180.05	7,522.00	8,876,320.00	1,180.05	219,675.00	255,575,740.00	1,163.43
<b>Factory Total</b>		<b>7,522.00</b>	<b>8,876,320.00</b>	<b>1,180.05</b>	<b>7,522.00</b>	<b>8,876,320.00</b>	<b>1,180.05</b>	<b>219,675.00</b>	<b>255,575,740.00</b>	<b>1,163.43</b>
<b>Factory : MF0488 VERELLAPATANA</b>										
MF0488	UVAKELLIE	7,404.00	6,838,520.00	923.63	7,404.00	6,838,520.00	923.63	263,129.00	288,669,930.00	1,097.07
<b>Factory Total</b>		<b>7,404.00</b>	<b>6,838,520.00</b>	<b>923.63</b>	<b>7,404.00</b>	<b>6,838,520.00</b>	<b>923.63</b>	<b>263,129.00</b>	<b>288,669,930.00</b>	<b>1,097.07</b>
<b>Factory : MF0840 VENTURE</b>										
MF0840	VENTURE	7,380.00	7,967,300.00	1,079.58	7,380.00	7,967,300.00	1,079.58	262,641.00	291,860,350.00	1,111.25
<b>Factory Total</b>		<b>7,380.00</b>	<b>7,967,300.00</b>	<b>1,079.58</b>	<b>7,380.00</b>	<b>7,967,300.00</b>	<b>1,079.58</b>	<b>262,641.00</b>	<b>291,860,350.00</b>	<b>1,111.25</b>
<b>Factory : MF0890 THERESIA</b>										
MF0890	THERESIA	3,547.00	4,317,740.00	1,217.29	3,547.00	4,317,740.00	1,217.29	172,434.00	195,980,150.00	1,136.55
<b>Factory Total</b>		<b>3,547.00</b>	<b>4,317,740.00</b>	<b>1,217.29</b>	<b>3,547.00</b>	<b>4,317,740.00</b>	<b>1,217.29</b>	<b>172,434.00</b>	<b>195,980,150.00</b>	<b>1,136.55</b>
<b>Factory : MF0986 MAHADOWA</b>										
MF0986	MAHADOWA	1,360.00	1,688,800.00	1,241.76	1,360.00	1,688,800.00	1,241.76	166,280.00	177,975,000.00	1,070.33
<b>Factory Total</b>		<b>1,360.00</b>	<b>1,688,800.00</b>	<b>1,241.76</b>	<b>1,360.00</b>	<b>1,688,800.00</b>	<b>1,241.76</b>	<b>166,280.00</b>	<b>177,975,000.00</b>	<b>1,070.33</b>
<b>Seller Total</b>		<b>32,294.00</b>	<b>35,628,080.00</b>	<b>1,103.24</b>	<b>32,294.00</b>	<b>35,628,080.00</b>	<b>1,103.24</b>	<b>1,361,321.00</b>	<b>1,508,819,990.00</b>	<b>1,108.35</b>
<b>Seller : PUSSELLAWA PLANTATIONS LIMITED</b>										
<b>Factory : MF0349 ROTHSCHILD</b>										
MF0349	ROTHSCHILD CTC	4,800.00	5,136,000.00	1,070.00	4,800.00	5,136,000.00	1,070.00	279,858.00	312,614,580.00	1,117.05
<b>Factory Total</b>		<b>4,800.00</b>	<b>5,136,000.00</b>	<b>1,070.00</b>	<b>4,800.00</b>	<b>5,136,000.00</b>	<b>1,070.00</b>	<b>279,858.00</b>	<b>312,614,580.00</b>	<b>1,117.05</b>

Mark	SellingMark	QTY	Weekly			Monthly			Cumulative	
			Proceeds	Avg. Price	QTY	Proceeds	Avg. Price	QTY	Proceeds	Avg. Price
<b>Factory : MF0602 DELTA CTC</b>										
MF0602	DELTA CTC	22,896.00	26,921,040.00	1,175.80	22,896.00	26,921,040.00	1,175.80	787,215.00	915,266,410.00	1,162.66
<b>Factory Total</b>		<b>22,896.00</b>	<b>26,921,040.00</b>	<b>1,175.80</b>	<b>22,896.00</b>	<b>26,921,040.00</b>	<b>1,175.80</b>	<b>787,215.00</b>	<b>915,266,410.00</b>	<b>1,162.66</b>
<b>Factory : MF0673 MOOLOYA</b>										
MF0673	MOOLOYA	2,640.00	3,018,800.00	1,143.48	2,640.00	3,018,800.00	1,143.48	156,759.00	173,526,990.00	1,106.97
<b>Factory Total</b>		<b>2,640.00</b>	<b>3,018,800.00</b>	<b>1,143.48</b>	<b>2,640.00</b>	<b>3,018,800.00</b>	<b>1,143.48</b>	<b>156,759.00</b>	<b>173,526,990.00</b>	<b>1,106.97</b>
<b>Seller Total</b>		<b>30,336.00</b>	<b>35,075,840.00</b>	<b>1,156.24</b>	<b>30,336.00</b>	<b>35,075,840.00</b>	<b>1,156.24</b>	<b>1,223,832.00</b>	<b>1,401,407,980.00</b>	<b>1,145.10</b>
<b>Seller : KOTAGALA PLANTATIONS PLC</b>										
<b>Factory : MF0005 STONYCLIFF GROUP</b>										
MF0005	STONYCLIFF	4,100.00	4,329,200.00	1,055.90	4,100.00	4,329,200.00	1,055.90	107,094.00	123,745,280.00	1,155.48
<b>Factory Total</b>		<b>4,100.00</b>	<b>4,329,200.00</b>	<b>1,055.90</b>	<b>4,100.00</b>	<b>4,329,200.00</b>	<b>1,055.90</b>	<b>107,094.00</b>	<b>123,745,280.00</b>	<b>1,155.48</b>
<b>Factory : MF0322 MOUNT VERNON</b>										
MF0322	MOUNT VERNON CTC	2,000.00	2,100,000.00	1,050.00	2,000.00	2,100,000.00	1,050.00	205,871.00	203,321,130.00	987.61
<b>Factory Total</b>		<b>2,000.00</b>	<b>2,100,000.00</b>	<b>1,050.00</b>	<b>2,000.00</b>	<b>2,100,000.00</b>	<b>1,050.00</b>	<b>205,871.00</b>	<b>203,321,130.00</b>	<b>987.61</b>
<b>Factory : MF0383 DRAYTON</b>										
MF0383	DRAYTON	4,624.00	5,398,800.00	1,167.56	4,624.00	5,398,800.00	1,167.56	122,068.00	139,255,160.00	1,140.80
<b>Factory Total</b>		<b>4,624.00</b>	<b>5,398,800.00</b>	<b>1,167.56</b>	<b>4,624.00</b>	<b>5,398,800.00</b>	<b>1,167.56</b>	<b>122,068.00</b>	<b>139,255,160.00</b>	<b>1,140.80</b>
<b>Factory : MF0467 ST.ANDREWS</b>										
MF0467	ST ANDREWS	4,358.00	5,049,880.00	1,158.76	4,358.00	5,049,880.00	1,158.76	226,422.00	255,816,010.00	1,129.82
<b>Factory Total</b>		<b>4,358.00</b>	<b>5,049,880.00</b>	<b>1,158.76</b>	<b>4,358.00</b>	<b>5,049,880.00</b>	<b>1,158.76</b>	<b>226,422.00</b>	<b>255,816,010.00</b>	<b>1,129.82</b>
<b>Factory : MF0541 BOGAHAWATTE</b>										
MF0541	BOGAHAWATTE	3,791.00	4,274,470.00	1,127.53	3,791.00	4,274,470.00	1,127.53	105,784.00	127,247,365.00	1,202.90
<b>Factory Total</b>		<b>3,791.00</b>	<b>4,274,470.00</b>	<b>1,127.53</b>	<b>3,791.00</b>	<b>4,274,470.00</b>	<b>1,127.53</b>	<b>105,784.00</b>	<b>127,247,365.00</b>	<b>1,202.90</b>
<b>Factory : MF0618 YUILLEFIELD</b>										
MF0618	YUILLEFIELD	3,547.00	4,114,460.00	1,159.98	3,547.00	4,114,460.00	1,159.98	104,327.00	123,729,400.00	1,185.98
<b>Factory Total</b>		<b>3,547.00</b>	<b>4,114,460.00</b>	<b>1,159.98</b>	<b>3,547.00</b>	<b>4,114,460.00</b>	<b>1,159.98</b>	<b>104,327.00</b>	<b>123,729,400.00</b>	<b>1,185.98</b>
<b>Factory : MF0674 MAYFIELD</b>										

Mark	SellingMark	QTY	Weekly		QTY	Monthly		Cumulative		
			Proceeds	Avg. Price		Proceeds	Avg. Price	QTY	Proceeds	Avg. Price
MF0674	MAYFIELD	3,520.00	4,250,400.00	1,207.50	3,520.00	4,250,400.00	1,207.50	148,374.00	168,550,040.00	1,135.98
<b>Factory Total</b>		<b>3,520.00</b>	<b>4,250,400.00</b>	<b>1,207.50</b>	<b>3,520.00</b>	<b>4,250,400.00</b>	<b>1,207.50</b>	<b>148,374.00</b>	<b>168,550,040.00</b>	<b>1,135.98</b>
<b>Factory : MF0926 CRAIGIE LEA</b>										
MF0926A	CRAIGIE LEA	1,200.00	1,440,000.00	1,200.00	1,200.00	1,440,000.00	1,200.00	55,200.00	65,190,000.00	1,180.98
MF0926	FOREST CREEK	3,420.00	3,916,000.00	1,145.03	3,420.00	3,916,000.00	1,145.03	75,393.00	89,623,300.00	1,188.75
<b>Factory Total</b>		<b>4,620.00</b>	<b>5,356,000.00</b>	<b>1,159.31</b>	<b>4,620.00</b>	<b>5,356,000.00</b>	<b>1,159.31</b>	<b>130,593.00</b>	<b>154,813,300.00</b>	<b>1,185.46</b>
<b>Seller Total</b>		<b>30,560.00</b>	<b>34,873,210.00</b>	<b>1,141.14</b>	<b>30,560.00</b>	<b>34,873,210.00</b>	<b>1,141.14</b>	<b>1,150,533.00</b>	<b>1,296,477,685.00</b>	<b>1,126.85</b>
<b>Seller : UDA PUSSELAWA PLANTATIONS PLC</b>										
<b>Factory : MF0897 DUCKWARI</b>										
MF0897	DUCKWARI CTC	8,410.00	8,665,200.00	1,030.34	8,410.00	8,665,200.00	1,030.34	175,964.00	189,312,400.00	1,075.86
<b>Factory Total</b>		<b>8,410.00</b>	<b>8,665,200.00</b>	<b>1,030.34</b>	<b>8,410.00</b>	<b>8,665,200.00</b>	<b>1,030.34</b>	<b>175,964.00</b>	<b>189,312,400.00</b>	<b>1,075.86</b>
<b>Factory : MF1254 CONCORDIA</b>										
MF1254	KENMARE	4,442.00	4,779,590.00	1,076.00	4,442.00	4,779,590.00	1,076.00	219,551.00	258,735,130.00	1,178.47
<b>Factory Total</b>		<b>4,442.00</b>	<b>4,779,590.00</b>	<b>1,076.00</b>	<b>4,442.00</b>	<b>4,779,590.00</b>	<b>1,076.00</b>	<b>219,551.00</b>	<b>258,735,130.00</b>	<b>1,178.47</b>
<b>Seller Total</b>		<b>12,852.00</b>	<b>13,444,790.00</b>	<b>1,046.12</b>	<b>12,852.00</b>	<b>13,444,790.00</b>	<b>1,046.12</b>	<b>395,515.00</b>	<b>448,047,530.00</b>	<b>1,132.82</b>
<b>Seller : HALPEWATTE ESTATE (PVT) LTD.</b>										
<b>Factory : MF1203 UVA HALPEWATTE</b>										
MF1203	HALPEWATTE UVA	3,150.00	2,929,400.00	929.97	3,150.00	2,929,400.00	929.97	206,719.00	278,671,890.00	1,348.07
<b>Factory Total</b>		<b>3,150.00</b>	<b>2,929,400.00</b>	<b>929.97</b>	<b>3,150.00</b>	<b>2,929,400.00</b>	<b>929.97</b>	<b>206,719.00</b>	<b>278,671,890.00</b>	<b>1,348.07</b>
<b>Seller Total</b>		<b>3,150.00</b>	<b>2,929,400.00</b>	<b>929.97</b>	<b>3,150.00</b>	<b>2,929,400.00</b>	<b>929.97</b>	<b>206,719.00</b>	<b>278,671,890.00</b>	<b>1,348.07</b>
<b>Seller : STASSEN EXP.LTD</b>										
<b>Factory : MF0049 IDULGASHENA</b>										
MF0049	IDDALGASHENA - ORGANIC BLAC	60.00	66,000.00	1,100.00	60.00	66,000.00	1,100.00	32,067.00	40,855,000.00	1,274.05
MF0049A	DUNKANDA - ORGANIC TEA	5,814.00	7,823,800.00	1,345.68	5,814.00	7,823,800.00	1,345.68	204,574.00	254,074,600.00	1,241.97
<b>Factory Total</b>		<b>5,874.00</b>	<b>7,889,800.00</b>	<b>1,343.17</b>	<b>5,874.00</b>	<b>7,889,800.00</b>	<b>1,343.17</b>	<b>236,641.00</b>	<b>294,929,600.00</b>	<b>1,246.32</b>
<b>Seller Total</b>		<b>5,874.00</b>	<b>7,889,800.00</b>	<b>1,343.17</b>	<b>5,874.00</b>	<b>7,889,800.00</b>	<b>1,343.17</b>	<b>236,641.00</b>	<b>294,929,600.00</b>	<b>1,246.32</b>

Mark	SellingMark	QTY	Weekly		QTY	Monthly		QTY	Cumulative	
			Proceeds	Avg. Price		Proceeds	Avg. Price		Proceeds	Avg. Price
<b>Seller : HAPUGASTANNE PLANTATIONS PLC.</b>										
<b>Factory : MF0381 DEMODERA "S"</b>										
MF0381	DEMODERA 'S'	12,847.00	15,929,550.00	1,239.94	12,847.00	15,929,550.00	1,239.94	327,448.00	381,312,440.00	1,164.50
<b>Factory Total</b>		<b>12,847.00</b>	<b>15,929,550.00</b>	<b>1,239.94</b>	<b>12,847.00</b>	<b>15,929,550.00</b>	<b>1,239.94</b>	<b>327,448.00</b>	<b>381,312,440.00</b>	<b>1,164.50</b>
<b>Factory : MF0596 ADAWATTE</b>										
MF0596	ADAWATTE	7,801.00	8,798,000.00	1,127.80	7,801.00	8,798,000.00	1,127.80	238,617.00	268,430,070.00	1,124.94
<b>Factory Total</b>		<b>7,801.00</b>	<b>8,798,000.00</b>	<b>1,127.80</b>	<b>7,801.00</b>	<b>8,798,000.00</b>	<b>1,127.80</b>	<b>238,617.00</b>	<b>268,430,070.00</b>	<b>1,124.94</b>
<b>Factory : MF1290 NATHERVILLE</b>										
MF1290	NATHERVILLE	4,040.00	3,252,000.00	804.95	4,040.00	3,252,000.00	804.95	94,218.00	74,936,910.00	795.36
<b>Factory Total</b>		<b>4,040.00</b>	<b>3,252,000.00</b>	<b>804.95</b>	<b>4,040.00</b>	<b>3,252,000.00</b>	<b>804.95</b>	<b>94,218.00</b>	<b>74,936,910.00</b>	<b>795.36</b>
<b>Seller Total</b>		<b>24,688.00</b>	<b>27,979,550.00</b>	<b>1,133.33</b>	<b>24,688.00</b>	<b>27,979,550.00</b>	<b>1,133.33</b>	<b>660,283.00</b>	<b>724,679,420.00</b>	<b>1,097.53</b>

**Seller : AGALAWATTE PLANTATIONS PLC.****Factory : MF0343 LABOOKELLIE**

MF0343	LABOOKELLIE	3,246.00	3,817,360.00	1,176.02	3,246.00	3,817,360.00	1,176.02	100,506.00	115,373,580.00	1,147.93
<b>Factory Total</b>		<b>3,246.00</b>	<b>3,817,360.00</b>	<b>1,176.02</b>	<b>3,246.00</b>	<b>3,817,360.00</b>	<b>1,176.02</b>	<b>100,506.00</b>	<b>115,373,580.00</b>	<b>1,147.93</b>

**Factory : MF0387 FROTOFT**

MF0387	TYMAWR	4,810.00	5,339,000.00	1,109.98	4,810.00	5,339,000.00	1,109.98	71,236.00	77,306,960.00	1,085.22
MF0387B	FROTOFT SUPER	0.00	0.00	0.00	0.00	0.00	0.00	7,794.00	8,513,850.00	1,092.36
<b>Factory Total</b>		<b>4,810.00</b>	<b>5,339,000.00</b>	<b>1,109.98</b>	<b>4,810.00</b>	<b>5,339,000.00</b>	<b>1,109.98</b>	<b>79,030.00</b>	<b>85,820,810.00</b>	<b>1,085.93</b>
<b>Seller Total</b>		<b>8,056.00</b>	<b>9,156,360.00</b>	<b>1,136.59</b>	<b>8,056.00</b>	<b>9,156,360.00</b>	<b>1,136.59</b>	<b>179,536.00</b>	<b>201,194,390.00</b>	<b>1,120.64</b>

**Seller : BALANGODA PLANTATIONS PLC.****Factory : MF0200 PETTIAGALLA**

MF0200	PETTIAGALLA	2,893.00	3,084,730.00	1,066.27	2,893.00	3,084,730.00	1,066.27	125,477.00	138,988,360.00	1,107.68
<b>Factory Total</b>		<b>2,893.00</b>	<b>3,084,730.00</b>	<b>1,066.27</b>	<b>2,893.00</b>	<b>3,084,730.00</b>	<b>1,066.27</b>	<b>125,477.00</b>	<b>138,988,360.00</b>	<b>1,107.68</b>

**Factory : MF0253 WEWESSA**

MF0253	WEWESSE	3,150.00	3,454,100.00	1,096.54	3,150.00	3,454,100.00	1,096.54	119,229.00	138,323,520.00	1,160.15
--------	---------	----------	--------------	----------	----------	--------------	----------	------------	----------------	----------

Mark	SellingMark	QTY	Weekly			Monthly			Cumulative	
			Proceeds	Avg. Price	QTY	Proceeds	Avg. Price	QTY	Proceeds	Avg. Price
<b>Factory Total</b>		<b>3,150.00</b>	<b>3,454,100.00</b>	<b>1,096.54</b>	<b>3,150.00</b>	<b>3,454,100.00</b>	<b>1,096.54</b>	<b>119,229.00</b>	<b>138,323,520.00</b>	<b>1,160.15</b>
<b>Factory : MF0667 GLEN ALPIN GROUP</b>										
MF0667	GLEN ALPIN	3,382.00	3,530,500.00	1,043.91	3,382.00	3,530,500.00	1,043.91	114,848.00	124,719,250.00	1,085.95
<b>Factory Total</b>		<b>3,382.00</b>	<b>3,530,500.00</b>	<b>1,043.91</b>	<b>3,382.00</b>	<b>3,530,500.00</b>	<b>1,043.91</b>	<b>114,848.00</b>	<b>124,719,250.00</b>	<b>1,085.95</b>
<b>Factory : MF0677 SPRING VALLEY GROUP</b>										
MF0677	SPRING VALLEY	5,660.00	5,725,000.00	1,011.48	5,660.00	5,725,000.00	1,011.48	168,139.00	185,459,970.00	1,103.02
<b>Factory Total</b>		<b>5,660.00</b>	<b>5,725,000.00</b>	<b>1,011.48</b>	<b>5,660.00</b>	<b>5,725,000.00</b>	<b>1,011.48</b>	<b>168,139.00</b>	<b>185,459,970.00</b>	<b>1,103.02</b>
<b>Factory : MF0678 TELBEDDE</b>										
MF0678	TELBEDDE	5,887.00	6,511,470.00	1,106.08	5,887.00	6,511,470.00	1,106.08	239,940.00	275,445,510.00	1,147.98
<b>Factory Total</b>		<b>5,887.00</b>	<b>6,511,470.00</b>	<b>1,106.08</b>	<b>5,887.00</b>	<b>6,511,470.00</b>	<b>1,106.08</b>	<b>239,940.00</b>	<b>275,445,510.00</b>	<b>1,147.98</b>
<b>Seller Total</b>		<b>20,972.00</b>	<b>22,305,800.00</b>	<b>1,063.60</b>	<b>20,972.00</b>	<b>22,305,800.00</b>	<b>1,063.60</b>	<b>767,633.00</b>	<b>862,936,610.00</b>	<b>1,124.15</b>
<b>Seller : TALAWAKELLE TEA ESTATES PLC.</b>										
<b>Factory : MF0004 MATTAKELLE</b>										
MF0004	MATTAKELLE	6,343.00	8,802,200.00	1,387.70	6,343.00	8,802,200.00	1,387.70	244,041.00	343,224,480.00	1,406.42
<b>Factory Total</b>		<b>6,343.00</b>	<b>8,802,200.00</b>	<b>1,387.70</b>	<b>6,343.00</b>	<b>8,802,200.00</b>	<b>1,387.70</b>	<b>244,041.00</b>	<b>343,224,480.00</b>	<b>1,406.42</b>
<b>Factory : MF0071 WATTEGODDE</b>										
MF0071	WATTEGODDE	3,420.00	4,548,000.00	1,329.82	3,420.00	4,548,000.00	1,329.82	144,684.00	195,208,620.00	1,349.21
<b>Factory Total</b>		<b>3,420.00</b>	<b>4,548,000.00</b>	<b>1,329.82</b>	<b>3,420.00</b>	<b>4,548,000.00</b>	<b>1,329.82</b>	<b>144,684.00</b>	<b>195,208,620.00</b>	<b>1,349.21</b>
<b>Factory : MF0499 LOGIE</b>										
MF0499	LOGIE	0.00	0.00	0.00	0.00	0.00	0.00	3.00	80,000.00	3,666.67
<b>Factory Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>3.00</b>	<b>80,000.00</b>	<b>26,666.67</b>
<b>Factory : MF0690 CALSAY</b>										
MF0690	MAHAELIYA	3,540.00	3,222,000.00	910.17	3,540.00	3,222,000.00	910.17	104,716.00	103,947,000.00	992.66
<b>Factory Total</b>		<b>3,540.00</b>	<b>3,222,000.00</b>	<b>910.17</b>	<b>3,540.00</b>	<b>3,222,000.00</b>	<b>910.17</b>	<b>104,716.00</b>	<b>103,947,000.00</b>	<b>992.66</b>
<b>Factory : MF0784 RADELLA</b>										
MF0784	RADELLA	0.00	0.00	0.00	0.00	0.00	0.00	9,735.00	14,238,400.00	1,462.60
<b>Factory Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>9,735.00</b>	<b>14,238,400.00</b>	<b>1,462.60</b>

Mark	SellingMark	QTY	Weekly		QTY	Monthly		Cumulative		
			Proceeds	Avg. Price		Proceeds	Avg. Price	QTY	Proceeds	Avg. Price
<b>Seller Total</b>		<b>13,303.00</b>	<b>16,572,200.00</b>	<b>1,245.75</b>	<b>13,303.00</b>	<b>16,572,200.00</b>	<b>1,245.75</b>	<b>503,179.00</b>	<b>656,698,500.00</b>	<b>1,305.10</b>
<b>Seller : MATURATA PLANTATIONS LTD.</b>										
<b>Factory : MF0067 LIDDESDALE</b>										
MF0067	LIDDESDALE	8,900.00	9,579,200.00	1,076.31	8,900.00	9,579,200.00	1,076.31	282,644.00	292,809,320.00	1,035.97
<b>Factory Total</b>		<b>8,900.00</b>	<b>9,579,200.00</b>	<b>1,076.31</b>	<b>8,900.00</b>	<b>9,579,200.00</b>	<b>1,076.31</b>	<b>282,644.00</b>	<b>292,809,320.00</b>	<b>1,035.97</b>
<b>Factory : MF0392 HIGH FOREST</b>										
MF0392	HIGH FOREST	9,140.00	9,786,800.00	1,070.77	9,140.00	9,786,800.00	1,070.77	254,362.00	259,585,660.00	1,020.54
<b>Factory Total</b>		<b>9,140.00</b>	<b>9,786,800.00</b>	<b>1,070.77</b>	<b>9,140.00</b>	<b>9,786,800.00</b>	<b>1,070.77</b>	<b>254,362.00</b>	<b>259,585,660.00</b>	<b>1,020.54</b>
<b>Factory : MF0729 RAGALLA GROUP</b>										
MF0729	RAGALLA	4,570.00	4,241,300.00	928.07	4,570.00	4,241,300.00	928.07	279,821.00	285,199,590.00	1,019.22
<b>Factory Total</b>		<b>4,570.00</b>	<b>4,241,300.00</b>	<b>928.07</b>	<b>4,570.00</b>	<b>4,241,300.00</b>	<b>928.07</b>	<b>279,821.00</b>	<b>285,199,590.00</b>	<b>1,019.22</b>
<b>Seller Total</b>		<b>22,610.00</b>	<b>23,607,300.00</b>	<b>1,044.11</b>	<b>22,610.00</b>	<b>23,607,300.00</b>	<b>1,044.11</b>	<b>816,827.00</b>	<b>837,594,570.00</b>	<b>1,025.42</b>

**Seller : AGARAPATANA PLANTATIONS PLC****Factory : MF0011 DIYAGAMA WEST**

MF0011	DIYAGAMA WEST	3,440.00	4,070,000.00	1,183.14	3,440.00	4,070,000.00	1,183.14	147,129.00	169,833,140.00	1,154.31
<b>Factory Total</b>		<b>3,440.00</b>	<b>4,070,000.00</b>	<b>1,183.14</b>	<b>3,440.00</b>	<b>4,070,000.00</b>	<b>1,183.14</b>	<b>147,129.00</b>	<b>169,833,140.00</b>	<b>1,154.31</b>

**Factory : MF0235 NAYABEDDE**

MF0235	NAYABEDDE	2,260.00	2,799,200.00	1,238.58	2,260.00	2,799,200.00	1,238.58	93,300.00	106,779,520.00	1,144.48
<b>Factory Total</b>		<b>2,260.00</b>	<b>2,799,200.00</b>	<b>1,238.58</b>	<b>2,260.00</b>	<b>2,799,200.00</b>	<b>1,238.58</b>	<b>93,300.00</b>	<b>106,779,520.00</b>	<b>1,144.48</b>

**Factory : MF0366 AGRAOUVAH**

MF0366	AGRAOUVAH	5,180.00	6,121,600.00	1,181.78	5,180.00	6,121,600.00	1,181.78	197,418.00	232,715,360.00	1,178.80
<b>Factory Total</b>		<b>5,180.00</b>	<b>6,121,600.00</b>	<b>1,181.78</b>	<b>5,180.00</b>	<b>6,121,600.00</b>	<b>1,181.78</b>	<b>197,418.00</b>	<b>232,715,360.00</b>	<b>1,178.80</b>

**Factory : MF0368 BALMORAL**

MF0368	CLYDESDALE	4,430.00	5,541,400.00	1,250.88	4,430.00	5,541,400.00	1,250.88	142,396.00	172,249,800.00	1,209.65
<b>Factory Total</b>		<b>4,430.00</b>	<b>5,541,400.00</b>	<b>1,250.88</b>	<b>4,430.00</b>	<b>5,541,400.00</b>	<b>1,250.88</b>	<b>142,396.00</b>	<b>172,249,800.00</b>	<b>1,209.65</b>

**Factory : MF0645 ALBION**

Mark	SellingMark	QTY	Weekly			Monthly			Cumulative		
			Proceeds	Avg. Price	QTY	Proceeds	Avg. Price	QTY	Proceeds	Avg. Price	
MF0645	ALBION	8,000.00	9,149,600.00	1,143.70	8,000.00	9,149,600.00	1,143.70	137,381.00	157,387,400.00	1,145.63	
<b>Factory Total</b>		<b>8,000.00</b>	<b>9,149,600.00</b>	<b>1,143.70</b>	<b>8,000.00</b>	<b>9,149,600.00</b>	<b>1,143.70</b>	<b>137,381.00</b>	<b>157,387,400.00</b>	<b>1,145.63</b>	
<b>Factory : MF0705 HAUTEVILLE</b>											
MF0705	HAUTEVILLE	7,437.00	8,310,540.00	1,117.46	7,437.00	8,310,540.00	1,117.46	242,751.00	271,182,620.00	1,117.12	
<b>Factory Total</b>		<b>7,437.00</b>	<b>8,310,540.00</b>	<b>1,117.46</b>	<b>7,437.00</b>	<b>8,310,540.00</b>	<b>1,117.46</b>	<b>242,751.00</b>	<b>271,182,620.00</b>	<b>1,117.12</b>	
<b>Factory : MF0771 WAVERLEY</b>											
MF0771	WAVERLEY	0.00	0.00	0.00	0.00	0.00	0.00	5,335.00	4,098,550.00	768.24	
<b>Factory Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>5,335.00</b>	<b>4,098,550.00</b>	<b>768.24</b>	
<b>Factory : MF0777 PITARATMALIE</b>											
MF0777	PITARATMALIE	6,680.00	8,322,000.00	1,245.81	6,680.00	8,322,000.00	1,245.81	191,367.00	222,397,240.00	1,162.15	
<b>Factory Total</b>		<b>6,680.00</b>	<b>8,322,000.00</b>	<b>1,245.81</b>	<b>6,680.00</b>	<b>8,322,000.00</b>	<b>1,245.81</b>	<b>191,367.00</b>	<b>222,397,240.00</b>	<b>1,162.15</b>	
<b>Factory : MF0821 GLENANORE</b>											
MF0821	GLENANORE	12,457.00	13,602,940.00	1,091.99	12,457.00	13,602,940.00	1,091.99	325,295.00	379,009,680.00	1,165.13	
<b>Factory Total</b>		<b>12,457.00</b>	<b>13,602,940.00</b>	<b>1,091.99</b>	<b>12,457.00</b>	<b>13,602,940.00</b>	<b>1,091.99</b>	<b>325,295.00</b>	<b>379,009,680.00</b>	<b>1,165.13</b>	
<b>Seller Total</b>		<b>49,884.00</b>	<b>57,917,280.00</b>	<b>1,161.04</b>	<b>49,884.00</b>	<b>57,917,280.00</b>	<b>1,161.04</b>	<b>1,482,372.00</b>	<b>1,715,653,310.00</b>	<b>1,157.37</b>	
<b>Seller : BOGAWANTALAWA TEA ESTATES PLC</b>											
<b>Factory : MF0069 KOTIYAGALLA</b>											
MF0069	KOTIYAGALLA	2,680.00	3,286,000.00	1,226.12	2,680.00	3,286,000.00	1,226.12	139,397.00	169,461,810.00	1,215.68	
<b>Factory Total</b>		<b>2,680.00</b>	<b>3,286,000.00</b>	<b>1,226.12</b>	<b>2,680.00</b>	<b>3,286,000.00</b>	<b>1,226.12</b>	<b>139,397.00</b>	<b>169,461,810.00</b>	<b>1,215.68</b>	
<b>Factory : MF0204 LETHENTY</b>											
MF0204	LETHENTY	2,840.00	3,559,200.00	1,253.24	2,840.00	3,559,200.00	1,253.24	110,984.00	138,213,740.00	1,245.35	
<b>Factory Total</b>		<b>2,840.00</b>	<b>3,559,200.00</b>	<b>1,253.24</b>	<b>2,840.00</b>	<b>3,559,200.00</b>	<b>1,253.24</b>	<b>110,984.00</b>	<b>138,213,740.00</b>	<b>1,245.35</b>	
<b>Factory : MF0206 LOINORN</b>											
MF0206	LOINORN	2,360.00	2,846,400.00	1,206.10	2,360.00	2,846,400.00	1,206.10	82,420.00	97,879,670.00	1,187.57	
<b>Factory Total</b>		<b>2,360.00</b>	<b>2,846,400.00</b>	<b>1,206.10</b>	<b>2,360.00</b>	<b>2,846,400.00</b>	<b>1,206.10</b>	<b>82,420.00</b>	<b>97,879,670.00</b>	<b>1,187.57</b>	
<b>Factory : MF0308 FETTERESSO</b>											
MF0308	FETTERESSO	1,880.00	2,286,200.00	1,216.06	1,880.00	2,286,200.00	1,216.06	59,222.00	71,092,900.00	1,200.45	

Mark	SellingMark	Weekly			Monthly			Cumulative		
		QTY	Proceeds	Avg. Price	QTY	Proceeds	Avg. Price	QTY	Proceeds	Avg. Price
<b>Factory Total</b>		<b>1,880.00</b>	<b>2,286,200.00</b>	<b>1,216.06</b>	<b>1,880.00</b>	<b>2,286,200.00</b>	<b>1,216.06</b>	<b>59,222.00</b>	<b>71,092,900.00</b>	<b>1,200.45</b>
<b>Factory : MF0348 NORWOOD</b>										
MF0348B	NORWOOD GREEN	0.00	0.00	0.00	0.00	0.00	0.00	1,005.00	1,457,250.00	1,450.00
MF0348	NORWOOD	3,480.00	3,990,400.00	1,146.67	3,480.00	3,990,400.00	1,146.67	59,420.00	72,301,640.00	1,216.79
<b>Factory Total</b>		<b>3,480.00</b>	<b>3,990,400.00</b>	<b>1,146.67</b>	<b>3,480.00</b>	<b>3,990,400.00</b>	<b>1,146.67</b>	<b>60,425.00</b>	<b>73,758,890.00</b>	<b>1,220.67</b>
<b>Factory : MF0485 BOGAWANA</b>										
MF0485	BRIDWELL	2,290.00	2,971,800.00	1,297.73	2,290.00	2,971,800.00	1,297.73	101,498.00	127,668,300.00	1,257.84
<b>Factory Total</b>		<b>2,290.00</b>	<b>2,971,800.00</b>	<b>1,297.73</b>	<b>2,290.00</b>	<b>2,971,800.00</b>	<b>1,297.73</b>	<b>101,498.00</b>	<b>127,668,300.00</b>	<b>1,257.84</b>
<b>Factory : MF0552 WANARAJAH</b>										
MF0552	WANARAJAH	2,920.00	3,612,000.00	1,236.99	2,920.00	3,612,000.00	1,236.99	73,616.00	90,939,204.00	1,235.32
<b>Factory Total</b>		<b>2,920.00</b>	<b>3,612,000.00</b>	<b>1,236.99</b>	<b>2,920.00</b>	<b>3,612,000.00</b>	<b>1,236.99</b>	<b>73,616.00</b>	<b>90,939,204.00</b>	<b>1,235.32</b>
<b>Factory : MF0617 POYSTON</b>										
MF0617	POYSTON	5,570.00	4,754,900.00	853.66	5,570.00	4,754,900.00	853.66	126,377.00	110,681,930.00	875.81
<b>Factory Total</b>		<b>5,570.00</b>	<b>4,754,900.00</b>	<b>853.66</b>	<b>5,570.00</b>	<b>4,754,900.00</b>	<b>853.66</b>	<b>126,377.00</b>	<b>110,681,930.00</b>	<b>875.81</b>
<b>Factory : MF0663 BOGAWANTALAWA</b>										
MF0663	BOGAWANTALAWA	0.00	0.00	0.00	0.00	0.00	0.00	54,827.00	66,220,480.00	1,207.81
<b>Factory Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>54,827.00</b>	<b>66,220,480.00</b>	<b>1,207.81</b>
<b>Factory : MF0703 CAMPION</b>										
MF0703	CAMPION	3,480.00	4,075,200.00	1,171.03	3,480.00	4,075,200.00	1,171.03	104,258.00	124,575,080.00	1,194.87
<b>Factory Total</b>		<b>3,480.00</b>	<b>4,075,200.00</b>	<b>1,171.03</b>	<b>3,480.00</b>	<b>4,075,200.00</b>	<b>1,171.03</b>	<b>104,258.00</b>	<b>124,575,080.00</b>	<b>1,194.87</b>
<b>Seller Total</b>		<b>27,500.00</b>	<b>31,382,100.00</b>	<b>1,141.17</b>	<b>27,500.00</b>	<b>31,382,100.00</b>	<b>1,141.17</b>	<b>913,024.00</b>	<b>1,070,492,004.00</b>	<b>1,172.47</b>
<b>Seller : KELANI VALLEY PLANTATIONS PLC.</b>										
<b>Factory : MF0226 GLASSAUGH</b>										
MF0226	GLASSAUGH	0.00	0.00	0.00	0.00	0.00	0.00	6,000.00	6,985,000.00	1,164.17
<b>Factory Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>6,000.00</b>	<b>6,985,000.00</b>	<b>1,164.17</b>
<b>Factory : MF0457 MAHAGASTOTTE</b>										
MF0457A	LOVERS LEAP	6,440.00	8,654,500.00	1,343.87	6,440.00	8,654,500.00	1,343.87	238,422.00	318,334,030.00	1,335.17

Mark	SellingMark	QTY	Weekly			Monthly			Cumulative	
			Proceeds	Avg. Price	QTY	Proceeds	Avg. Price	QTY	Proceeds	Avg. Price
<b>Factory Total</b>		<b>6,440.00</b>	<b>8,654,500.00</b>	<b>1,343.87</b>	<b>6,440.00</b>	<b>8,654,500.00</b>	<b>1,343.87</b>	<b>238,422.00</b>	<b>318,334,030.00</b>	<b>1,335.17</b>
<b>Factory : MF1301 INVERNESS</b>										
MF1301	NUWARA ELIYA	0.00	0.00	0.00	0.00	0.00	0.00	1,017.00	1,017,000.00	1,000.00
MF1301A	INVERNESS	1,864.00	2,237,860.00	1,200.57	1,864.00	2,237,860.00	1,200.57	88,787.00	113,881,230.00	1,282.63
<b>Factory Total</b>		<b>1,864.00</b>	<b>2,237,860.00</b>	<b>1,200.57</b>	<b>1,864.00</b>	<b>2,237,860.00</b>	<b>1,200.57</b>	<b>89,804.00</b>	<b>114,898,230.00</b>	<b>1,279.43</b>
<b>Seller Total</b>		<b>8,304.00</b>	<b>10,892,360.00</b>	<b>1,311.70</b>	<b>8,304.00</b>	<b>10,892,360.00</b>	<b>1,311.70</b>	<b>334,226.00</b>	<b>440,217,260.00</b>	<b>1,317.12</b>

Seller : MALWATTE VALLEY PLANTATIONS PLC.

Factory : MF0156 UVA HIGHLANDS

MF0156	UVA HIGHLANDS	5,920.00	7,610,800.00	1,285.61	5,920.00	7,610,800.00	1,285.61	221,801.00	299,254,160.00	1,349.20
<b>Factory Total</b>		<b>5,920.00</b>	<b>7,610,800.00</b>	<b>1,285.61</b>	<b>5,920.00</b>	<b>7,610,800.00</b>	<b>1,285.61</b>	<b>221,801.00</b>	<b>299,254,160.00</b>	<b>1,349.20</b>

Factory : MF0163 NELUWA

MF0163	NELUWA	5,270.00	4,000,400.00	759.09	5,270.00	4,000,400.00	759.09	130,713.00	100,554,480.00	769.28
<b>Factory Total</b>		<b>5,270.00</b>	<b>4,000,400.00</b>	<b>759.09</b>	<b>5,270.00</b>	<b>4,000,400.00</b>	<b>759.09</b>	<b>130,713.00</b>	<b>100,554,480.00</b>	<b>769.28</b>

Factory : MF0581 AISLABY

MF0581	AISLABY	9,671.00	12,119,060.00	1,253.13	9,671.00	12,119,060.00	1,253.13	213,313.00	291,093,490.00	1,364.63
<b>Factory Total</b>		<b>9,671.00</b>	<b>12,119,060.00</b>	<b>1,253.13</b>	<b>9,671.00</b>	<b>12,119,060.00</b>	<b>1,253.13</b>	<b>213,313.00</b>	<b>291,093,490.00</b>	<b>1,364.63</b>

Factory : MF0988 SARNIA GROUP

MF0988	SARNIA PLAIDERIE	4,637.00	5,659,600.00	1,220.53	4,637.00	5,659,600.00	1,220.53	340,864.00	442,488,970.00	1,298.14
<b>Factory Total</b>		<b>4,637.00</b>	<b>5,659,600.00</b>	<b>1,220.53</b>	<b>4,637.00</b>	<b>5,659,600.00</b>	<b>1,220.53</b>	<b>340,864.00</b>	<b>442,488,970.00</b>	<b>1,298.14</b>

<b>Seller Total</b>		<b>25,498.00</b>	<b>29,389,860.00</b>	<b>1,152.63</b>	<b>25,498.00</b>	<b>29,389,860.00</b>	<b>1,152.63</b>	<b>906,691.00</b>	<b>1,133,391,100.00</b>	<b>1,250.03</b>
---------------------	--	------------------	----------------------	-----------------	------------------	----------------------	-----------------	-------------------	-------------------------	-----------------

Seller : MELFORT GREEN TEAS (PVT) LTD

Factory : MF0886 MELFORT

MF0886	MELFORT GREEN TEA	20.00	39,000.00	1,950.00	20.00	39,000.00	1,950.00	36,938.00	45,720,650.00	1,237.77
<b>Factory Total</b>		<b>20.00</b>	<b>39,000.00</b>	<b>1,950.00</b>	<b>20.00</b>	<b>39,000.00</b>	<b>1,950.00</b>	<b>36,938.00</b>	<b>45,720,650.00</b>	<b>1,237.77</b>

<b>Seller Total</b>		<b>20.00</b>	<b>39,000.00</b>	<b>1,950.00</b>	<b>20.00</b>	<b>39,000.00</b>	<b>1,950.00</b>	<b>36,938.00</b>	<b>45,720,650.00</b>	<b>1,237.77</b>
---------------------	--	--------------	------------------	-----------------	--------------	------------------	-----------------	------------------	----------------------	-----------------

Seller : GATAGAHAWELA PLANTATIONS PVT LTD.

Mark	SellingMark	QTY	Weekly			Monthly			Cumulative	
			Proceeds	Avg. Price	QTY	Proceeds	Avg. Price	QTY	Proceeds	Avg. Price
<b>Factory : MF0967 GATAGAHAWELLA TEA FACTORY</b>										
MF0967B	RANDENIGALA	300.00	219,000.00	730.00	300.00	219,000.00	730.00	42,847.00	34,030,010.00	794.22
MF0967A	RANDENIGALA SUPER	0.00	0.00	0.00	0.00	0.00	0.00	45,615.00	58,271,550.00	1,277.46
<b>Factory Total</b>		<b>300.00</b>	<b>219,000.00</b>	<b>730.00</b>	<b>300.00</b>	<b>219,000.00</b>	<b>730.00</b>	<b>88,462.00</b>	<b>92,301,560.00</b>	<b>1,043.40</b>
<b>Seller Total</b>		<b>300.00</b>	<b>219,000.00</b>	<b>730.00</b>	<b>300.00</b>	<b>219,000.00</b>	<b>730.00</b>	<b>88,462.00</b>	<b>92,301,560.00</b>	<b>1,043.40</b>

**Seller : GLENROSE PLANTATIONS (PVT) LTD**

**Factory : MF1082 RINGWOOD**

MF1082A	RINGWOOD CTC	2,200.00	1,804,000.00	820.00	2,200.00	1,804,000.00	820.00	216,207.00	163,584,700.00	756.61
<b>Factory Total</b>		<b>2,200.00</b>	<b>1,804,000.00</b>	<b>820.00</b>	<b>2,200.00</b>	<b>1,804,000.00</b>	<b>820.00</b>	<b>216,207.00</b>	<b>163,584,700.00</b>	<b>756.61</b>
<b>Seller Total</b>		<b>2,200.00</b>	<b>1,804,000.00</b>	<b>820.00</b>	<b>2,200.00</b>	<b>1,804,000.00</b>	<b>820.00</b>	<b>216,207.00</b>	<b>163,584,700.00</b>	<b>756.61</b>

**Seller : FINLAY TEAS(PVT)LTD**

**Factory : MF1430 FINLAY GREEN TEAS TEA FACTORY**

MF1430	FINLAY TEAS	0.00	0.00	0.00	0.00	0.00	0.00	2,000.00	3,200,000.00	1,600.00
<b>Factory Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>2,000.00</b>	<b>3,200,000.00</b>	<b>1,600.00</b>
<b>Seller Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>2,000.00</b>	<b>3,200,000.00</b>	<b>1,600.00</b>

**Seller : MR.U.L.AMEEN- KOORADENIYA TEA PROCESSING CENTER**

**Factory : RT0016 KOORADENIYA TEA PROCESSING CENTER**

RT0016	KOORADENIYA	2,460.00	1,736,400.00	705.85	2,460.00	1,736,400.00	705.85	35,888.00	24,429,080.00	680.70
<b>Factory Total</b>		<b>2,460.00</b>	<b>1,736,400.00</b>	<b>705.85</b>	<b>2,460.00</b>	<b>1,736,400.00</b>	<b>705.85</b>	<b>35,888.00</b>	<b>24,429,080.00</b>	<b>680.70</b>
<b>Seller Total</b>		<b>2,460.00</b>	<b>1,736,400.00</b>	<b>705.85</b>	<b>2,460.00</b>	<b>1,736,400.00</b>	<b>705.85</b>	<b>35,888.00</b>	<b>24,429,080.00</b>	<b>680.70</b>

**Seller : KOORADENIYA ENTERPRISES (Pvt) Ltd.**

**Factory : MF0214 AMBATENNE**

MF0214	ELLATHOTA UVA	2,874.00	3,681,280.00	1,280.89	2,874.00	3,681,280.00	1,280.89	149,846.00	181,947,110.00	1,214.23
MF0214A	BRADFORD	350.00	287,000.00	820.00	350.00	287,000.00	820.00	33,326.00	26,257,830.00	787.91
<b>Factory Total</b>		<b>3,224.00</b>	<b>3,968,280.00</b>	<b>1,230.86</b>	<b>3,224.00</b>	<b>3,968,280.00</b>	<b>1,230.86</b>	<b>183,172.00</b>	<b>208,204,940.00</b>	<b>1,136.66</b>

Mark	SellingMark	QTY	Weekly			Monthly			Cumulative	
			Proceeds	Avg. Price	QTY	Proceeds	Avg. Price	QTY	Proceeds	Avg. Price
<b>Seller Total</b>		<b>3,224.00</b>	<b>3,968,280.00</b>	<b>1,230.86</b>	<b>3,224.00</b>	<b>3,968,280.00</b>	<b>1,230.86</b>	<b>183,172.00</b>	<b>208,204,940.00</b>	<b>1,136.66</b>

**Seller : GOWERAKELLE GREEN TEA FACTORY****Factory : MF1508 GAWARAKELLE GREEN TEA FACTORY**

MF1508	GAWARAKELLE	0.00	0.00	0.00	0.00	0.00	0.00	117,831.50	133,353,050.00	1,131.73
<b>Factory Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>117,831.50</b>	<b>133,353,050.00</b>	<b>1,131.73</b>
<b>Seller Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>117,831.50</b>	<b>133,353,050.00</b>	<b>1,131.73</b>

**Seller : ERIN TEA FACTORY****Factory : MF0132 ERIN**

MF0132A	ERIN SUPER	4,004.00	4,244,300.00	1,060.01	4,004.00	4,244,300.00	1,060.01	120,609.00	134,296,980.00	1,113.49
MF0132	MORAHENA SUPER	1,310.00	993,100.00	758.09	1,310.00	993,100.00	758.09	32,884.00	24,543,760.00	746.37
<b>Factory Total</b>		<b>5,314.00</b>	<b>5,237,400.00</b>	<b>985.59</b>	<b>5,314.00</b>	<b>5,237,400.00</b>	<b>985.59</b>	<b>153,493.00</b>	<b>158,840,740.00</b>	<b>1,034.84</b>
<b>Seller Total</b>		<b>5,314.00</b>	<b>5,237,400.00</b>	<b>985.59</b>	<b>5,314.00</b>	<b>5,237,400.00</b>	<b>985.59</b>	<b>153,493.00</b>	<b>158,840,740.00</b>	<b>1,034.84</b>

**Seller : DONSIDE PLANTATION****Factory : MF0656 LOWER DONSIDE**

MF0656	DONSIDE CTC	10,020.00	8,547,000.00	852.99	10,020.00	8,547,000.00	852.99	253,157.00	230,214,400.00	909.37
<b>Factory Total</b>		<b>10,020.00</b>	<b>8,547,000.00</b>	<b>852.99</b>	<b>10,020.00</b>	<b>8,547,000.00</b>	<b>852.99</b>	<b>253,157.00</b>	<b>230,214,400.00</b>	<b>909.37</b>
<b>Seller Total</b>		<b>10,020.00</b>	<b>8,547,000.00</b>	<b>852.99</b>	<b>10,020.00</b>	<b>8,547,000.00</b>	<b>852.99</b>	<b>253,157.00</b>	<b>230,214,400.00</b>	<b>909.37</b>

**Seller : RANAYA TEA'S (PVT) LTD****Factory : MF0302 ULUGEDARA**

MF0302	ULUGEDARA CTC	9,240.00	9,413,600.00	1,018.79	9,240.00	9,413,600.00	1,018.79	264,892.00	296,976,300.00	1,121.12
<b>Factory Total</b>		<b>9,240.00</b>	<b>9,413,600.00</b>	<b>1,018.79</b>	<b>9,240.00</b>	<b>9,413,600.00</b>	<b>1,018.79</b>	<b>264,892.00</b>	<b>296,976,300.00</b>	<b>1,121.12</b>
<b>Seller Total</b>		<b>9,240.00</b>	<b>9,413,600.00</b>	<b>1,018.79</b>	<b>9,240.00</b>	<b>9,413,600.00</b>	<b>1,018.79</b>	<b>264,892.00</b>	<b>296,976,300.00</b>	<b>1,121.12</b>

**Seller : CEYLON BIO TEAS (PVT)LTD****Factory : MF0713 MILLINGTON**

MF0713B	MILLINGTON	0.00	0.00	0.00	0.00	0.00	0.00	19,319.00	15,220,810.00	787.87
---------	------------	------	------	------	------	------	------	-----------	---------------	--------

Mark	SellingMark	Weekly			Monthly			Cumulative		
		QTY	Proceeds	Avg. Price	QTY	Proceeds	Avg. Price	QTY	Proceeds	Avg. Price
MF0713	HARRINGTON	0.00	0.00	0.00	0.00	0.00	0.00	6,395.00	6,716,800.00	1,050.32
<b>Factory Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>25,714.00</b>	<b>21,937,610.00</b>	<b>853.14</b>
<b>Seller Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>25,714.00</b>	<b>21,937,610.00</b>	<b>853.14</b>

**Seller : ASMA TEA CENTER**

**Factory : RT0340 HAMILTON**

RT0340	HAMILTON	2,340.00	1,698,600.00	725.90	2,340.00	1,698,600.00	725.90	43,529.00	31,045,830.00	713.22
<b>Factory Total</b>		<b>2,340.00</b>	<b>1,698,600.00</b>	<b>725.90</b>	<b>2,340.00</b>	<b>1,698,600.00</b>	<b>725.90</b>	<b>43,529.00</b>	<b>31,045,830.00</b>	<b>713.22</b>
<b>Seller Total</b>		<b>2,340.00</b>	<b>1,698,600.00</b>	<b>725.90</b>	<b>2,340.00</b>	<b>1,698,600.00</b>	<b>725.90</b>	<b>43,529.00</b>	<b>31,045,830.00</b>	<b>713.22</b>

**Seller : DEENSIDE TEA FACTORY (PVT) LTD**

**Factory : BF0006 DEENSIDE**

BF0006A	HIGH FORD	0.00	0.00	0.00	0.00	0.00	0.00	1,077.00	838,250.00	778.32
BF0006	DEENSIDE	0.00	0.00	0.00	0.00	0.00	0.00	43,814.00	44,730,970.00	1,020.93
<b>Factory Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>44,891.00</b>	<b>45,569,220.00</b>	<b>1,015.11</b>
<b>Seller Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>44,891.00</b>	<b>45,569,220.00</b>	<b>1,015.11</b>

**Seller : Mr. H.L.M.FURKHAN**

**Factory : MF0255 NEW KELLIE GROUP TEA FACTORY**

MF0255	PENILAND	0.00	0.00	0.00	0.00	0.00	0.00	7,104.00	8,538,980.00	1,202.00
MF0255A	THAMARA VALLEY	0.00	0.00	0.00	0.00	0.00	0.00	1,320.00	1,095,600.00	830.00
<b>Factory Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>8,424.00</b>	<b>9,634,580.00</b>	<b>1,143.71</b>
<b>Seller Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>8,424.00</b>	<b>9,634,580.00</b>	<b>1,143.71</b>

**Seller : WIJAYA PRODUCTS (PVT) LTD**

**Factory : MF1512 ROZELLA**

MF1512	ROZELLA	1,150.00	1,096,500.00	953.48	1,150.00	1,096,500.00	953.48	43,042.00	45,172,220.00	1,049.49
<b>Factory Total</b>		<b>1,150.00</b>	<b>1,096,500.00</b>	<b>953.48</b>	<b>1,150.00</b>	<b>1,096,500.00</b>	<b>953.48</b>	<b>43,042.00</b>	<b>45,172,220.00</b>	<b>1,049.49</b>
<b>Seller Total</b>		<b>1,150.00</b>	<b>1,096,500.00</b>	<b>953.48</b>	<b>1,150.00</b>	<b>1,096,500.00</b>	<b>953.48</b>	<b>43,042.00</b>	<b>45,172,220.00</b>	<b>1,049.49</b>

Mark	SellingMark	QTY	Weekly			Monthly			Cumulative		
			Proceeds	Avg. Price		QTY	Proceeds	Avg. Price		QTY	Proceeds
<b>Seller : DESTA HOLDINGS (PVT) LTD</b>											
<b>Factory : MF0024 BOLAGALA TEA FACTORY</b>											
MF0024	BOLAGALLA ESTATE	0.00	0.00	0.00	0.00	0.00	0.00	12,129.00	13,555,900.00	1,117.64	
MF0024A	HUREEGOLLA ESTATE	0.00	0.00	0.00	0.00	0.00	0.00	350.00	276,500.00	790.00	
<b>Factory Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>12,479.00</b>	<b>13,832,400.00</b>	<b>1,108.45</b>	
<b>Seller Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>12,479.00</b>	<b>13,832,400.00</b>	<b>1,108.45</b>	
<b>Seller : MATALE WEST TEA FACTORY</b>											
<b>Factory : MF0344 MATALE WEST TEA FACTORY,</b>											
MF0344A	RATHTOTA	0.00	0.00	0.00	0.00	0.00	0.00	25,537.00	19,348,900.00	757.68	
MF0344	KANDENUWARA	0.00	0.00	0.00	0.00	0.00	0.00	975.00	594,750.00	610.00	
<b>Factory Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>26,512.00</b>	<b>19,943,650.00</b>	<b>752.25</b>	
<b>Seller Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>26,512.00</b>	<b>19,943,650.00</b>	<b>752.25</b>	
<b>Seller : MR. M F A SAMAD</b>											
<b>Factory : RT0079 POLKOLLAGOLLAWATTA TEA PROCESSING CENTER</b>											
RT0079	POLKOLLAGOLLAWATTA	0.00	0.00	0.00	0.00	0.00	0.00	40,096.00	29,115,110.00	726.14	
<b>Factory Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>40,096.00</b>	<b>29,115,110.00</b>	<b>726.14</b>	
<b>Seller Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>40,096.00</b>	<b>29,115,110.00</b>	<b>726.14</b>	
<b>Seller : MR. N M ILANGARATNE</b>											
<b>Factory : MF0160 PUSSETENNE</b>											
MF0160	MOUNTAIN VIEW	0.00	0.00	0.00	0.00	0.00	0.00	2,845.00	2,089,980.00	734.62	
<b>Factory Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>2,845.00</b>	<b>2,089,980.00</b>	<b>734.62</b>	
<b>Seller Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>2,845.00</b>	<b>2,089,980.00</b>	<b>734.62</b>	
<b>Elevation Total</b>		<b>425,498.00</b>	<b>482,591,690.00</b>	<b>1,134.18</b>	<b>425,498.00</b>	<b>482,591,690.00</b>	<b>1,134.18</b>	<b>15,846,977.50</b>	<b>18,208,263,759.00</b>	<b>1,149.01</b>	

Mark	SellingMark	QTY	Weekly		QTY	Monthly		QTY	Cumulative	
			Proceeds	Avg. Price		Proceeds	Avg. Price		Proceeds	Avg. Price
<b>Elevation : LOW</b>										
<b>Seller : KOTAGALA PLANTATIONS PLC</b>										
<b>Factory : MF0147 RAYIGAMA</b>										
MF0147A	IMAGIRA	1,857.00	2,439,300.00	1,313.57	1,857.00	2,439,300.00	1,313.57	92,914.00	124,561,330.00	1,340.61
<b>Factory Total</b>		<b>1,857.00</b>	<b>2,439,300.00</b>	<b>1,313.57</b>	<b>1,857.00</b>	<b>2,439,300.00</b>	<b>1,313.57</b>	<b>92,914.00</b>	<b>124,561,330.00</b>	<b>1,340.61</b>
<b>Seller Total</b>		<b>1,857.00</b>	<b>2,439,300.00</b>	<b>1,313.57</b>	<b>1,857.00</b>	<b>2,439,300.00</b>	<b>1,313.57</b>	<b>92,914.00</b>	<b>124,561,330.00</b>	<b>1,340.61</b>

**Seller : TEA SMALLHOLDER FACTORIES PLC****Factory : MF0642 BROADLANDS SMALL HOLDERS**

MF0642A	BROADLANDS	2,320.00	2,401,600.00	1,035.17	2,320.00	2,401,600.00	1,035.17	67,665.00	77,168,440.00	1,140.45
MF0642	BROADLANDS SMALLHOLDERS	16,658.00	22,173,030.00	1,331.07	16,658.00	22,173,030.00	1,331.07	524,087.00	705,152,960.00	1,345.49
<b>Factory Total</b>		<b>18,978.00</b>	<b>24,574,630.00</b>	<b>1,294.90</b>	<b>18,978.00</b>	<b>24,574,630.00</b>	<b>1,294.90</b>	<b>591,752.00</b>	<b>782,321,400.00</b>	<b>1,322.04</b>

**Factory : MF1314 HINIDUMA**

MF1314A	HINIDUMA SMALLHOLDERS	5,435.00	7,528,500.00	1,385.19	5,435.00	7,528,500.00	1,385.19	238,063.00	346,247,640.00	1,454.44
MF1314	HINIDUMA	520.00	479,400.00	921.92	520.00	479,400.00	921.92	9,054.00	9,137,660.00	1,009.24
<b>Factory Total</b>		<b>5,955.00</b>	<b>8,007,900.00</b>	<b>1,344.74</b>	<b>5,955.00</b>	<b>8,007,900.00</b>	<b>1,344.74</b>	<b>247,117.00</b>	<b>355,385,300.00</b>	<b>1,438.13</b>

**Factory : MF1330 HALWITIGALA**

MF1330	HALWITIGALA	0.00	0.00	0.00	0.00	0.00	0.00	5,894.00	5,359,720.00	909.35
MF1330A	HALWITIGALA SMALLHOLDERS	5,680.00	8,136,740.00	1,432.52	5,680.00	8,136,740.00	1,432.52	226,333.00	335,204,920.00	1,481.03
<b>Factory Total</b>		<b>5,680.00</b>	<b>8,136,740.00</b>	<b>1,432.52</b>	<b>5,680.00</b>	<b>8,136,740.00</b>	<b>1,432.52</b>	<b>232,227.00</b>	<b>340,564,640.00</b>	<b>1,466.52</b>

**Factory : MF1332 KURUPANAWA**

MF1332A	KURUPANAWA	220.00	171,600.00	780.00	220.00	171,600.00	780.00	16,544.00	14,544,140.00	879.12
MF1332	KURUPANAWA SMALLHOLDERS	6,466.00	9,062,700.00	1,401.59	6,466.00	9,062,700.00	1,401.59	203,721.00	300,820,420.00	1,476.63
<b>Factory Total</b>		<b>6,686.00</b>	<b>9,234,300.00</b>	<b>1,381.14</b>	<b>6,686.00</b>	<b>9,234,300.00</b>	<b>1,381.14</b>	<b>220,265.00</b>	<b>315,364,560.00</b>	<b>1,431.75</b>

**Factory : MF1333 HINGALGODA**

MF1333A	HINGALGODA CTC	6,420.00	8,909,000.00	1,387.69	6,420.00	8,909,000.00	1,387.69	143,054.00	208,489,170.00	1,457.42
MF1333	HINGALGODA	200.00	200,000.00	1,000.00	200.00	200,000.00	1,000.00	13,496.00	13,349,620.00	989.15
MF1333B	HINGALGODA SMALLHOLDERS	967.00	1,171,850.00	1,211.84	967.00	1,171,850.00	1,211.84	165,468.00	254,329,780.00	1,537.03
<b>Factory Total</b>		<b>7,587.00</b>	<b>10,280,850.00</b>	<b>1,355.06</b>	<b>7,587.00</b>	<b>10,280,850.00</b>	<b>1,355.06</b>	<b>322,018.00</b>	<b>476,168,570.00</b>	<b>1,478.70</b>

Mark	SellingMark	Weekly			Monthly			Cumulative		
		QTY	Proceeds	Avg. Price	QTY	Proceeds	Avg. Price	QTY	Proceeds	Avg. Price
<b>Seller Total</b>		<b>44,886.00</b>	<b>60,234,420.00</b>	<b>1,341.94</b>	<b>44,886.00</b>	<b>60,234,420.00</b>	<b>1,341.94</b>	<b>1,613,379.00</b>	<b>2,269,804,470.00</b>	<b>1,406.86</b>

**Seller : SOUTHERN GROUP TEA INDUSTRIES (PVT)LTD**

**Factory : MF1414 DERANGALA HILLS**

MF1414	DERANGALA HILLS	4,183.00	5,219,260.00	1,247.73	4,183.00	5,219,260.00	1,247.73	116,178.00	161,964,430.00	1,394.11
<b>Factory Total</b>		<b>4,183.00</b>	<b>5,219,260.00</b>	<b>1,247.73</b>	<b>4,183.00</b>	<b>5,219,260.00</b>	<b>1,247.73</b>	<b>116,178.00</b>	<b>161,964,430.00</b>	<b>1,394.11</b>
<b>Seller Total</b>		<b>4,183.00</b>	<b>5,219,260.00</b>	<b>1,247.73</b>	<b>4,183.00</b>	<b>5,219,260.00</b>	<b>1,247.73</b>	<b>116,178.00</b>	<b>161,964,430.00</b>	<b>1,394.11</b>

**Seller : K.D.S.R. UPASENA**

**Factory : MF1463 PEAK VIEW**

MF1463A	DEHIGAHADENIYA	0.00	0.00	0.00	0.00	0.00	0.00	16,820.00	15,933,700.00	947.31
MF1463B	PEAK VIEW SUPER	2,108.00	3,635,550.00	1,724.64	2,108.00	3,635,550.00	1,724.64	65,640.00	112,809,950.00	1,718.62
MF1463	PEAK VIEW	1,170.00	1,396,200.00	1,193.33	1,170.00	1,396,200.00	1,193.33	102,657.00	122,269,370.00	1,191.05
<b>Factory Total</b>		<b>3,278.00</b>	<b>5,031,750.00</b>	<b>1,535.01</b>	<b>3,278.00</b>	<b>5,031,750.00</b>	<b>1,535.01</b>	<b>185,117.00</b>	<b>251,013,020.00</b>	<b>1,355.97</b>
<b>Seller Total</b>		<b>3,278.00</b>	<b>5,031,750.00</b>	<b>1,535.01</b>	<b>3,278.00</b>	<b>5,031,750.00</b>	<b>1,535.01</b>	<b>185,117.00</b>	<b>251,013,020.00</b>	<b>1,355.97</b>

**Seller : BERUBEULA ESTATE**

**Factory : MF1274 BERUBEULA**

MF1274	BERUBEULA	6,458.00	9,721,700.00	1,505.37	6,458.00	9,721,700.00	1,505.37	287,836.00	485,863,960.00	1,687.99
MF1274A	BERUBEULA "A"	0.00	0.00	0.00	0.00	0.00	0.00	2,480.00	2,906,200.00	1,171.85
<b>Factory Total</b>		<b>6,458.00</b>	<b>9,721,700.00</b>	<b>1,505.37</b>	<b>6,458.00</b>	<b>9,721,700.00</b>	<b>1,505.37</b>	<b>290,316.00</b>	<b>488,770,160.00</b>	<b>1,683.58</b>
<b>Seller Total</b>		<b>6,458.00</b>	<b>9,721,700.00</b>	<b>1,505.37</b>	<b>6,458.00</b>	<b>9,721,700.00</b>	<b>1,505.37</b>	<b>290,316.00</b>	<b>488,770,160.00</b>	<b>1,683.58</b>

**Seller : K.D.S.R.UPASENA**

**Factory : MF1217 GALPADITENNE**

MF1217D	HIRILYEDDA CTC	0.00	0.00	0.00	0.00	0.00	0.00	3,250.00	3,653,000.00	1,124.00
MF1217C	SUDUWELIPOTHAHENA CTC	4,600.00	6,418,000.00	1,395.22	4,600.00	6,418,000.00	1,395.22	153,682.00	205,980,510.00	1,340.30
<b>Factory Total</b>		<b>4,600.00</b>	<b>6,418,000.00</b>	<b>1,395.22</b>	<b>4,600.00</b>	<b>6,418,000.00</b>	<b>1,395.22</b>	<b>156,932.00</b>	<b>209,633,510.00</b>	<b>1,335.82</b>
<b>Seller Total</b>		<b>4,600.00</b>	<b>6,418,000.00</b>	<b>1,395.22</b>	<b>4,600.00</b>	<b>6,418,000.00</b>	<b>1,395.22</b>	<b>156,932.00</b>	<b>209,633,510.00</b>	<b>1,335.82</b>

Mark	SellingMark	QTY	Weekly		QTY	Monthly		QTY	Cumulative	
			Proceeds	Avg. Price		Proceeds	Avg. Price		Proceeds	Avg. Price
<b>Seller : NILDIYA VALLEY PLANTATIONS(PVT)LTD</b>										
<b>Factory : MF1033 NILDIYA VALLEY</b>										
MF1033	NILDIYA VALLEY	2,870.00	3,349,200.00	1,166.97	2,870.00	3,349,200.00	1,166.97	110,971.00	160,229,520.00	1,443.89
<b>Factory Total</b>		<b>2,870.00</b>	<b>3,349,200.00</b>	<b>1,166.97</b>	<b>2,870.00</b>	<b>3,349,200.00</b>	<b>1,166.97</b>	<b>110,971.00</b>	<b>160,229,520.00</b>	<b>1,443.89</b>
<b>Seller Total</b>		<b>2,870.00</b>	<b>3,349,200.00</b>	<b>1,166.97</b>	<b>2,870.00</b>	<b>3,349,200.00</b>	<b>1,166.97</b>	<b>110,971.00</b>	<b>160,229,520.00</b>	<b>1,443.89</b>

**Seller : DODANGAHA TEA FACTORY (PVT) LTD**

**Factory : MF0756 GALLA**

MF0756A	GALLA 'A'	0.00	0.00	0.00	0.00	0.00	0.00	244.00	175,680.00	720.00
<b>Factory Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>244.00</b>	<b>175,680.00</b>	<b>720.00</b>
<b>Seller Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>244.00</b>	<b>175,680.00</b>	<b>720.00</b>

**Seller : MUSSENDAPOTTA ESTATE LTD**

**Factory : MF1271 MUSSENDAPOTTA**

MF1271	NEW MUSSENDAPOTTA	3,007.00	4,353,520.00	1,447.80	3,007.00	4,353,520.00	1,447.80	70,368.00	112,787,960.00	1,602.83
MF1271A	MUSSENDAPOTHA	1,580.00	1,214,600.00	768.73	1,580.00	1,214,600.00	768.73	22,649.00	17,827,100.00	787.10
<b>Factory Total</b>		<b>4,587.00</b>	<b>5,568,120.00</b>	<b>1,213.89</b>	<b>4,587.00</b>	<b>5,568,120.00</b>	<b>1,213.89</b>	<b>93,017.00</b>	<b>130,615,060.00</b>	<b>1,404.21</b>
<b>Seller Total</b>		<b>4,587.00</b>	<b>5,568,120.00</b>	<b>1,213.89</b>	<b>4,587.00</b>	<b>5,568,120.00</b>	<b>1,213.89</b>	<b>93,017.00</b>	<b>130,615,060.00</b>	<b>1,404.21</b>

**Seller : Morawakkorala Tea Producers Co-op, Society Ltd**

**Factory : BF0044 MORAWAKKORALE**

BF0044	MORAWAKKORALE	5,937.00	8,263,440.00	1,391.85	5,937.00	8,263,440.00	1,391.85	200,325.00	286,584,700.00	1,430.60
BF0044A	KOTAPOLA	0.00	0.00	0.00	0.00	0.00	0.00	11,357.00	10,277,460.00	904.94
<b>Factory Total</b>		<b>5,937.00</b>	<b>8,263,440.00</b>	<b>1,391.85</b>	<b>5,937.00</b>	<b>8,263,440.00</b>	<b>1,391.85</b>	<b>211,682.00</b>	<b>296,862,160.00</b>	<b>1,402.40</b>
<b>Seller Total</b>		<b>5,937.00</b>	<b>8,263,440.00</b>	<b>1,391.85</b>	<b>5,937.00</b>	<b>8,263,440.00</b>	<b>1,391.85</b>	<b>211,682.00</b>	<b>296,862,160.00</b>	<b>1,402.40</b>

**Seller : CECILIYAN ASSOCIATES(PRIVATE) LTD**

**Factory : MF0181 CECILIYAN**

MF0181A	NELUNWATTA	8,062.00	12,385,350.00	1,536.26	8,062.00	12,385,350.00	1,536.26	172,843.00	268,449,600.00	1,553.14
---------	------------	----------	---------------	----------	----------	---------------	----------	------------	----------------	----------

Mark	SellingMark	QTY	Weekly			Monthly			Cumulative	
			Proceeds	Avg. Price	QTY	Proceeds	Avg. Price	QTY	Proceeds	Avg. Price
MF0181C	NELUNWATTA CTC	2,000.00	1,670,000.00	835.00	2,000.00	1,670,000.00	835.00	137,688.00	127,189,080.00	923.75
MF0181	CECILIAN	8,548.00	12,287,600.00	1,437.48	8,548.00	12,287,600.00	1,437.48	391,763.00	628,467,240.00	1,604.20
MF0181B	CECILIAN CTC	15,730.00	22,267,600.00	1,415.61	15,730.00	22,267,600.00	1,415.61	626,725.00	849,031,990.00	1,354.71
<b>Factory Total</b>		<b>34,340.00</b>	<b>48,610,550.00</b>	<b>1,415.57</b>	<b>34,340.00</b>	<b>48,610,550.00</b>	<b>1,415.57</b>	<b>1,329,019.00</b>	<b>1,873,137,910.00</b>	<b>1,409.41</b>
<b>Seller Total</b>		<b>34,340.00</b>	<b>48,610,550.00</b>	<b>1,415.57</b>	<b>34,340.00</b>	<b>48,610,550.00</b>	<b>1,415.57</b>	<b>1,329,019.00</b>	<b>1,873,137,910.00</b>	<b>1,409.41</b>

**Seller : KALUBOWITIYANA TEA FACTORY LTD.**

**Factory : BF0188 KALUBOWITIYANA**

BF0188A	KALUBOWITIYANA CTC	2,240.00	3,528,000.00	1,575.00	2,240.00	3,528,000.00	1,575.00	114,370.00	163,287,760.00	1,427.71
<b>Factory Total</b>		<b>2,240.00</b>	<b>3,528,000.00</b>	<b>1,575.00</b>	<b>2,240.00</b>	<b>3,528,000.00</b>	<b>1,575.00</b>	<b>114,370.00</b>	<b>163,287,760.00</b>	<b>1,427.71</b>
<b>Seller Total</b>		<b>2,240.00</b>	<b>3,528,000.00</b>	<b>1,575.00</b>	<b>2,240.00</b>	<b>3,528,000.00</b>	<b>1,575.00</b>	<b>114,370.00</b>	<b>163,287,760.00</b>	<b>1,427.71</b>

**Seller : HAPUGASTANNE PLANTATIONS PLC.**

**Factory : MF0801 HAPUGASTENNE (292)**

MF0801B	HAPUGASTENNE CTC	0.00	0.00	0.00	0.00	0.00	0.00	1,840.00	1,104,000.00	600.00
MF0801	HAPUGASTENNE	10,224.00	11,504,160.00	1,125.21	10,224.00	11,504,160.00	1,125.21	430,105.00	479,241,820.00	1,114.24
<b>Factory Total</b>		<b>10,224.00</b>	<b>11,504,160.00</b>	<b>1,125.21</b>	<b>10,224.00</b>	<b>11,504,160.00</b>	<b>1,125.21</b>	<b>431,945.00</b>	<b>480,345,820.00</b>	<b>1,112.05</b>
<b>Seller Total</b>		<b>10,224.00</b>	<b>11,504,160.00</b>	<b>1,125.21</b>	<b>10,224.00</b>	<b>11,504,160.00</b>	<b>1,125.21</b>	<b>431,945.00</b>	<b>480,345,820.00</b>	<b>1,112.05</b>

**Seller : MATHOTA PLANTATIONS PVT LTD.**

**Factory : MF1278 MATHOTA**

MF1278	MATHOTA	4,272.00	6,200,480.00	1,451.42	4,272.00	6,200,480.00	1,451.42	188,495.00	306,648,590.00	1,626.83
MF1278A	MATHOTA HILLS	1,380.00	1,353,400.00	980.72	1,380.00	1,353,400.00	980.72	37,539.00	32,680,950.00	870.59
<b>Factory Total</b>		<b>5,652.00</b>	<b>7,553,880.00</b>	<b>1,336.50</b>	<b>5,652.00</b>	<b>7,553,880.00</b>	<b>1,336.50</b>	<b>226,034.00</b>	<b>339,329,540.00</b>	<b>1,501.23</b>
<b>Seller Total</b>		<b>5,652.00</b>	<b>7,553,880.00</b>	<b>1,336.50</b>	<b>5,652.00</b>	<b>7,553,880.00</b>	<b>1,336.50</b>	<b>226,034.00</b>	<b>339,329,540.00</b>	<b>1,501.23</b>

**Seller : MR.K.D.S.R.UPASENA**

**Factory : MF0347 MATUWAGALLA**

MF0347A	MATUWAGALLA 'A'	960.00	1,075,200.00	1,120.00	960.00	1,075,200.00	1,120.00	65,592.00	64,367,450.00	981.33
MF0347B	MATUWAGALLA SUPER	2,365.00	3,666,000.00	1,550.11	2,365.00	3,666,000.00	1,550.11	100,151.00	165,763,600.00	1,655.14

Mark	SellingMark	QTY	Weekly			Monthly			Cumulative	
			Proceeds	Avg. Price	QTY	Proceeds	Avg. Price	QTY	Proceeds	Avg. Price
MF0347	BADUWATTA	760.00	623,200.00	820.00	760.00	623,200.00	820.00	12,105.00	9,613,400.00	794.17
<b>Factory Total</b>		<b>4,085.00</b>	<b>5,364,400.00</b>	<b>1,313.19</b>	<b>4,085.00</b>	<b>5,364,400.00</b>	<b>1,313.19</b>	<b>177,848.00</b>	<b>239,744,450.00</b>	<b>1,348.03</b>
<b>Seller Total</b>		<b>4,085.00</b>	<b>5,364,400.00</b>	<b>1,313.19</b>	<b>4,085.00</b>	<b>5,364,400.00</b>	<b>1,313.19</b>	<b>177,848.00</b>	<b>239,744,450.00</b>	<b>1,348.03</b>

**Seller : TALAWAKELLE TEA ESTATES PLC.**

**Factory : MF0802 DENIYAYA (357)**

MF0802	NEW DENIYAYA	2,627.00	3,388,550.00	1,289.89	2,627.00	3,388,550.00	1,289.89	81,080.00	118,601,000.00	1,462.77
<b>Factory Total</b>		<b>2,627.00</b>	<b>3,388,550.00</b>	<b>1,289.89</b>	<b>2,627.00</b>	<b>3,388,550.00</b>	<b>1,289.89</b>	<b>81,080.00</b>	<b>118,601,000.00</b>	<b>1,462.77</b>
<b>Factory : MF1275 DENIYAYA NEW (355)</b>										
MF1275	KIRUWANAGANGA	6,132.00	9,526,960.00	1,553.65	6,132.00	9,526,960.00	1,553.65	217,344.00	340,444,420.00	1,566.39
<b>Factory Total</b>		<b>6,132.00</b>	<b>9,526,960.00</b>	<b>1,553.65</b>	<b>6,132.00</b>	<b>9,526,960.00</b>	<b>1,553.65</b>	<b>217,344.00</b>	<b>340,444,420.00</b>	<b>1,566.39</b>
<b>Seller Total</b>		<b>8,759.00</b>	<b>12,915,510.00</b>	<b>1,474.54</b>	<b>8,759.00</b>	<b>12,915,510.00</b>	<b>1,474.54</b>	<b>298,424.00</b>	<b>459,045,420.00</b>	<b>1,538.23</b>

**Seller : BOGAWANTALAWA TEA ESTATES PLC**

**Factory : MF1297 ILLUKTENNE**

MF1297	ILLUKTENNE	0.00	0.00	0.00	0.00	0.00	0.00	63,092.00	73,455,330.00	1,164.26
<b>Factory Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>63,092.00</b>	<b>73,455,330.00</b>	<b>1,164.26</b>
<b>Seller Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>63,092.00</b>	<b>73,455,330.00</b>	<b>1,164.26</b>

**Seller : KELANI VALLEY PLANTATIONS PLC.**

**Factory : MF0626 HALGOLLA**

MF0626	HALGOLLA	0.00	0.00	0.00	0.00	0.00	0.00	11,889.00	8,627,880.00	725.70
MF0626A	ULLSWATER	2,830.00	3,421,100.00	1,208.87	2,830.00	3,421,100.00	1,208.87	84,204.00	106,321,490.00	1,262.67
<b>Factory Total</b>		<b>2,830.00</b>	<b>3,421,100.00</b>	<b>1,208.87</b>	<b>2,830.00</b>	<b>3,421,100.00</b>	<b>1,208.87</b>	<b>96,093.00</b>	<b>114,949,370.00</b>	<b>1,196.23</b>
<b>Seller Total</b>		<b>2,830.00</b>	<b>3,421,100.00</b>	<b>1,208.87</b>	<b>2,830.00</b>	<b>3,421,100.00</b>	<b>1,208.87</b>	<b>96,093.00</b>	<b>114,949,370.00</b>	<b>1,196.23</b>

**Seller : MR.AVANTHA RATNAYAKE**

**Factory : MF1407 BOGODA**

MF1407	BOGODA GROUP	2,820.00	5,111,800.00	1,812.70	2,820.00	5,111,800.00	1,812.70	117,871.00	210,081,780.00	1,782.30
MF1407A	BOGODA	3,170.00	3,705,400.00	1,168.90	3,170.00	3,705,400.00	1,168.90	81,434.00	108,207,960.00	1,328.78

Mark	SellingMark	Weekly			Monthly			Cumulative		
		QTY	Proceeds	Avg. Price	QTY	Proceeds	Avg. Price	QTY	Proceeds	Avg. Price
<b>Factory Total</b>		<b>5,990.00</b>	<b>8,817,200.00</b>	<b>1,471.99</b>	<b>5,990.00</b>	<b>8,817,200.00</b>	<b>1,471.99</b>	<b>199,305.00</b>	<b>318,289,740.00</b>	<b>1,597.00</b>
<b>Seller Total</b>		<b>5,990.00</b>	<b>8,817,200.00</b>	<b>1,471.99</b>	<b>5,990.00</b>	<b>8,817,200.00</b>	<b>1,471.99</b>	<b>199,305.00</b>	<b>318,289,740.00</b>	<b>1,597.00</b>

**Seller : SOUTHERN GROUP CTC TEAS (PVT) LTD**

**Factory : MF1443 CEE TEE HILLS**

MF1443A	CEE TEE HILLS	600.00	453,000.00	755.00	600.00	453,000.00	755.00	98,548.00	141,331,800.00	1,434.14
MF1443B	CEE TEE HILLS CTC	1,200.00	1,344,000.00	1,120.00	1,200.00	1,344,000.00	1,120.00	1,200.00	1,344,000.00	1,120.00
MF1443	GALBOKKA CTC	2,000.00	1,580,000.00	790.00	2,000.00	1,580,000.00	790.00	3,000.00	2,370,000.00	790.00
<b>Factory Total</b>		<b>3,800.00</b>	<b>3,377,000.00</b>	<b>888.68</b>	<b>3,800.00</b>	<b>3,377,000.00</b>	<b>888.68</b>	<b>102,748.00</b>	<b>145,045,800.00</b>	<b>1,411.67</b>
<b>Seller Total</b>		<b>3,800.00</b>	<b>3,377,000.00</b>	<b>888.68</b>	<b>3,800.00</b>	<b>3,377,000.00</b>	<b>888.68</b>	<b>102,748.00</b>	<b>145,045,800.00</b>	<b>1,411.67</b>

**Seller : Mr. D. Jayawardena**

**Factory : MF1337 LUMBINI**

MF1337	LUMBINI	4,434.00	7,443,220.00	1,678.67	4,434.00	7,443,220.00	1,678.67	147,666.00	264,611,950.00	1,791.96
MF1337A	LUMBINI WATTA	890.00	900,200.00	1,011.46	890.00	900,200.00	1,011.46	29,385.00	31,489,060.00	1,071.60
MF1337B	LUMBINI VALLEY ORGANICS	0.00	0.00	0.00	0.00	0.00	0.00	615.00	2,675,500.00	1,350.41
<b>Factory Total</b>		<b>5,324.00</b>	<b>8,343,420.00</b>	<b>1,567.13</b>	<b>5,324.00</b>	<b>8,343,420.00</b>	<b>1,567.13</b>	<b>177,666.00</b>	<b>298,776,510.00</b>	<b>1,681.68</b>
<b>Seller Total</b>		<b>5,324.00</b>	<b>8,343,420.00</b>	<b>1,567.13</b>	<b>5,324.00</b>	<b>8,343,420.00</b>	<b>1,567.13</b>	<b>177,666.00</b>	<b>298,776,510.00</b>	<b>1,681.68</b>

**Seller : KINGSBRU TEAS (PRIVATE) LIMITED**

**Factory : MF0443 KINGSBRU**

MF0443A	LAZE	0.00	0.00	0.00	0.00	0.00	0.00	900.00	672,000.00	746.67
MF0443	KINGSBRU	0.00	0.00	0.00	0.00	0.00	0.00	87,479.00	124,246,640.00	1,420.30
<b>Factory Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>88,379.00</b>	<b>124,918,640.00</b>	<b>1,413.44</b>
<b>Seller Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>88,379.00</b>	<b>124,918,640.00</b>	<b>1,413.44</b>

**Seller : MR.JEEWANTHA SENARATNE**

**Factory : MF1348 Neo Tea Processing**

MF1348A	NEO SUPER	0.00	0.00	0.00	0.00	0.00	0.00	75,300.00	60,043,500.00	797.39
<b>Factory Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>75,300.00</b>	<b>60,043,500.00</b>	<b>797.39</b>

Mark	SellingMark	QTY	Weekly			Monthly			Cumulative	
			Proceeds	Avg. Price	QTY	Proceeds	Avg. Price	QTY	Proceeds	Avg. Price
<b>Seller Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>75,300.00</b>	<b>60,043,500.00</b>	<b>797.39</b>

**Seller : Nildalukande Teas Private Limited**

**Factory : BF0170 NILDALUKANDA**

BF0170B	KANDY HILLS	3,420.00	3,555,400.00	1,039.59	3,420.00	3,555,400.00	1,039.59	109,195.00	109,450,200.00	1,002.34
BF0170	NILDALUKANDE CTC	0.00	0.00	0.00	0.00	0.00	0.00	41,400.00	43,465,000.00	1,049.88
<b>Factory Total</b>		<b>3,420.00</b>	<b>3,555,400.00</b>	<b>1,039.59</b>	<b>3,420.00</b>	<b>3,555,400.00</b>	<b>1,039.59</b>	<b>150,595.00</b>	<b>152,915,200.00</b>	<b>1,015.41</b>
<b>Seller Total</b>		<b>3,420.00</b>	<b>3,555,400.00</b>	<b>1,039.59</b>	<b>3,420.00</b>	<b>3,555,400.00</b>	<b>1,039.59</b>	<b>150,595.00</b>	<b>152,915,200.00</b>	<b>1,015.41</b>

**Seller : Kirimatiya Tea Factory**

**Factory : MF1521 KIRIMETIYA**

MF1521	KIRIMETIYA	1,594.00	2,257,540.00	1,416.27	1,594.00	2,257,540.00	1,416.27	151,556.00	177,677,350.00	1,172.35
MF1521A	PATTAPOLA	0.00	0.00	0.00	0.00	0.00	0.00	4,000.00	2,835,600.00	708.90
<b>Factory Total</b>		<b>1,594.00</b>	<b>2,257,540.00</b>	<b>1,416.27</b>	<b>1,594.00</b>	<b>2,257,540.00</b>	<b>1,416.27</b>	<b>155,556.00</b>	<b>180,512,950.00</b>	<b>1,160.44</b>
<b>Seller Total</b>		<b>1,594.00</b>	<b>2,257,540.00</b>	<b>1,416.27</b>	<b>1,594.00</b>	<b>2,257,540.00</b>	<b>1,416.27</b>	<b>155,556.00</b>	<b>180,512,950.00</b>	<b>1,160.44</b>

**Seller : CANORA LANKA PLANTATIONS(PVT) LTD**

**Factory : MF1599 CANORA TEA FACTORY**

MF1599	CANORA CTC	10,980.00	9,538,600.00	868.72	10,980.00	9,538,600.00	868.72	200,691.00	189,477,630.00	944.13
<b>Factory Total</b>		<b>10,980.00</b>	<b>9,538,600.00</b>	<b>868.72</b>	<b>10,980.00</b>	<b>9,538,600.00</b>	<b>868.72</b>	<b>200,691.00</b>	<b>189,477,630.00</b>	<b>944.13</b>
<b>Seller Total</b>		<b>10,980.00</b>	<b>9,538,600.00</b>	<b>868.72</b>	<b>10,980.00</b>	<b>9,538,600.00</b>	<b>868.72</b>	<b>200,691.00</b>	<b>189,477,630.00</b>	<b>944.13</b>

**Seller : MR.K.AMARASIRI**

**Factory : MF0535 KAHATAPITIYA**

MF0535	SANDARU	0.00	0.00	0.00	0.00	0.00	0.00	21,328.00	15,153,560.00	710.50
MF0535A	KAHATAPITIYA	8,620.00	5,810,800.00	674.11	8,620.00	5,810,800.00	674.11	131,549.00	93,895,070.00	713.76
<b>Factory Total</b>		<b>8,620.00</b>	<b>5,810,800.00</b>	<b>674.11</b>	<b>8,620.00</b>	<b>5,810,800.00</b>	<b>674.11</b>	<b>152,877.00</b>	<b>109,048,630.00</b>	<b>713.31</b>
<b>Seller Total</b>		<b>8,620.00</b>	<b>5,810,800.00</b>	<b>674.11</b>	<b>8,620.00</b>	<b>5,810,800.00</b>	<b>674.11</b>	<b>152,877.00</b>	<b>109,048,630.00</b>	<b>713.31</b>

**Seller : Mr. Sachitha Ayesh Kodithuwakku.**

Mark	SellingMark	QTY	Weekly			Monthly			Cumulative		
			Proceeds	Avg. Price	QTY	Proceeds	Avg. Price	QTY	Proceeds	Avg. Price	
<b>Factory : MF1400 MIRISWATTA TEA FACTORY</b>											
MF1400A	SACHITHA	0.00	0.00	0.00	0.00	0.00	0.00	95,237.00	137,823,600.00	1,447.16	
MF1400B	MIRISWATTA	0.00	0.00	0.00	0.00	0.00	0.00	4,794.00	9,728,150.00	2,029.23	
<b>Factory Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>100,031.00</b>	<b>147,551,750.00</b>	<b>1,475.06</b>	
<b>Seller Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>100,031.00</b>	<b>147,551,750.00</b>	<b>1,475.06</b>	

**Seller : Alagalla Tea Factory****Factory : MF0634 ALAGALLA**

MF0634	ALAGALLA	5,841.00	7,185,280.00	1,230.15	5,841.00	7,185,280.00	1,230.15	195,063.00	239,848,680.00	1,229.60
MF0634A	GONEDENIYA	800.00	592,000.00	740.00	800.00	592,000.00	740.00	29,760.00	23,284,000.00	782.39
MF0634D	PEAKWATTA CTC	17,986.00	13,491,800.00	750.13	17,986.00	13,491,800.00	750.13	470,614.00	349,860,020.00	743.41
MF0634C	ALAGALLA CTC	0.00	0.00	0.00	0.00	0.00	0.00	53,992.00	48,853,080.00	904.82
<b>Factory Total</b>		<b>24,627.00</b>	<b>21,269,080.00</b>	<b>863.65</b>	<b>24,627.00</b>	<b>21,269,080.00</b>	<b>863.65</b>	<b>749,429.00</b>	<b>661,845,780.00</b>	<b>883.13</b>
<b>Seller Total</b>		<b>24,627.00</b>	<b>21,269,080.00</b>	<b>863.65</b>	<b>24,627.00</b>	<b>21,269,080.00</b>	<b>863.65</b>	<b>749,429.00</b>	<b>661,845,780.00</b>	<b>883.13</b>

**Seller : Dehigama Tea Factory****Factory : MF1509 DEHIGAMA TEA FACTORY**

MF1509	DEHIGAMA	1,617.00	2,086,400.00	1,290.29	1,617.00	2,086,400.00	1,290.29	65,582.00	86,405,300.00	1,317.52
MF1509A	WELIWATHURA	2,820.00	1,953,000.00	692.55	2,820.00	1,953,000.00	692.55	16,850.00	11,954,900.00	709.49
MF1509B	GLENROSS	1,740.00	1,314,400.00	755.40	1,740.00	1,314,400.00	755.40	38,052.00	28,489,670.00	748.70
<b>Factory Total</b>		<b>6,177.00</b>	<b>5,353,800.00</b>	<b>866.73</b>	<b>6,177.00</b>	<b>5,353,800.00</b>	<b>866.73</b>	<b>120,484.00</b>	<b>126,849,870.00</b>	<b>1,052.84</b>
<b>Seller Total</b>		<b>6,177.00</b>	<b>5,353,800.00</b>	<b>866.73</b>	<b>6,177.00</b>	<b>5,353,800.00</b>	<b>866.73</b>	<b>120,484.00</b>	<b>126,849,870.00</b>	<b>1,052.84</b>

**Seller : ARISE GREEN (PRIVATE) LIMITED****Factory : MF1320 RICHILAND**

MF1320	RICHILAND	4,390.00	6,844,500.00	1,559.11	4,390.00	6,844,500.00	1,559.11	102,922.00	165,024,280.00	1,603.39
<b>Factory Total</b>		<b>4,390.00</b>	<b>6,844,500.00</b>	<b>1,559.11</b>	<b>4,390.00</b>	<b>6,844,500.00</b>	<b>1,559.11</b>	<b>102,922.00</b>	<b>165,024,280.00</b>	<b>1,603.39</b>
<b>Seller Total</b>		<b>4,390.00</b>	<b>6,844,500.00</b>	<b>1,559.11</b>	<b>4,390.00</b>	<b>6,844,500.00</b>	<b>1,559.11</b>	<b>102,922.00</b>	<b>165,024,280.00</b>	<b>1,603.39</b>

**Seller : PILIMATHALAWA TEA FACTORY**

Mark	SellingMark	QTY	Weekly			Monthly			Cumulative	
			Proceeds	Avg. Price	QTY	Proceeds	Avg. Price	QTY	Proceeds	Avg. Price
<b>Factory : BF0111 PILIMATHALAWA</b>										
BF0111A	GODIGAMUWA	500.00	385,000.00	770.00	500.00	385,000.00	770.00	4,828.00	4,090,540.00	847.25
BF0111B	MEDDAWATTE	0.00	0.00	0.00	0.00	0.00	0.00	740.00	547,600.00	740.00
<b>Factory Total</b>		<b>500.00</b>	<b>385,000.00</b>	<b>770.00</b>	<b>500.00</b>	<b>385,000.00</b>	<b>770.00</b>	<b>5,568.00</b>	<b>4,638,140.00</b>	<b>833.00</b>
<b>Seller Total</b>		<b>500.00</b>	<b>385,000.00</b>	<b>770.00</b>	<b>500.00</b>	<b>385,000.00</b>	<b>770.00</b>	<b>5,568.00</b>	<b>4,638,140.00</b>	<b>833.00</b>

Seller : Dr.SATHIRA S.GODAGAMA

<b>Factory : MF1306 SINETH</b>										
MF1306	ISURA	540.00	404,200.00	748.52	540.00	404,200.00	748.52	17,799.00	15,156,250.00	851.52
MF1306A	SINETH	2,820.00	3,893,400.00	1,380.64	2,820.00	3,893,400.00	1,380.64	155,913.00	237,964,980.00	1,526.27
<b>Factory Total</b>		<b>3,360.00</b>	<b>4,297,600.00</b>	<b>1,279.05</b>	<b>3,360.00</b>	<b>4,297,600.00</b>	<b>1,279.05</b>	<b>173,712.00</b>	<b>253,121,230.00</b>	<b>1,457.13</b>
<b>Seller Total</b>		<b>3,360.00</b>	<b>4,297,600.00</b>	<b>1,279.05</b>	<b>3,360.00</b>	<b>4,297,600.00</b>	<b>1,279.05</b>	<b>173,712.00</b>	<b>253,121,230.00</b>	<b>1,457.13</b>

Seller : Mr.Sathira Sandeepa Godagama

<b>Factory : MF1318 SINENSIS TEA FACTORY</b>										
MF1318	SINENSIS	0.00	0.00	0.00	0.00	0.00	0.00	2,234.00	1,560,500.00	698.52
MF1318A	SADHRI	1,610.00	1,869,600.00	1,161.24	1,610.00	1,869,600.00	1,161.24	43,284.00	60,110,690.00	1,388.75
<b>Factory Total</b>		<b>1,610.00</b>	<b>1,869,600.00</b>	<b>1,161.24</b>	<b>1,610.00</b>	<b>1,869,600.00</b>	<b>1,161.24</b>	<b>45,518.00</b>	<b>61,671,190.00</b>	<b>1,354.87</b>
<b>Seller Total</b>		<b>1,610.00</b>	<b>1,869,600.00</b>	<b>1,161.24</b>	<b>1,610.00</b>	<b>1,869,600.00</b>	<b>1,161.24</b>	<b>45,518.00</b>	<b>61,671,190.00</b>	<b>1,354.87</b>

Seller : DR.RIENZI PEIRIS

<b>Factory : MF1304 KEHELWELA</b>										
MF1304	KEHELWELA	78.00	92,040.00	1,180.00	78.00	92,040.00	1,180.00	47,889.00	57,077,530.00	1,191.87
<b>Factory Total</b>		<b>78.00</b>	<b>92,040.00</b>	<b>1,180.00</b>	<b>78.00</b>	<b>92,040.00</b>	<b>1,180.00</b>	<b>47,889.00</b>	<b>57,077,530.00</b>	<b>1,191.87</b>
<b>Seller Total</b>		<b>78.00</b>	<b>92,040.00</b>	<b>1,180.00</b>	<b>78.00</b>	<b>92,040.00</b>	<b>1,180.00</b>	<b>47,889.00</b>	<b>57,077,530.00</b>	<b>1,191.87</b>

Seller : MR.AVANTHA RATNAYAKE (ARBOUR VALLEY)

<b>Factory : BF0157 ARBOUR VALLEY</b>										
BF0157	ARBOUR VALLEY	2,370.00	4,193,600.00	1,769.45	2,370.00	4,193,600.00	1,769.45	64,897.00	115,905,850.00	1,786.00
<b>Factory Total</b>		<b>2,370.00</b>	<b>4,193,600.00</b>	<b>1,769.45</b>	<b>2,370.00</b>	<b>4,193,600.00</b>	<b>1,769.45</b>	<b>64,897.00</b>	<b>115,905,850.00</b>	<b>1,786.00</b>

Mark	SellingMark	QTY	Weekly			Monthly			Cumulative	
			Proceeds	Avg. Price	QTY	Proceeds	Avg. Price	QTY	Proceeds	Avg. Price
<b>Seller Total</b>		<b>2,370.00</b>	<b>4,193,600.00</b>	<b>1,769.45</b>	<b>2,370.00</b>	<b>4,193,600.00</b>	<b>1,769.45</b>	<b>64,897.00</b>	<b>115,905,850.00</b>	<b>1,786.00</b>

**Seller : A.M.NAZIM****Factory : RT0352 HENAWATTA TEA PROCESSING CENTRE**

RT0352	HENAWATTA	2,760.00	2,010,400.00	728.41	2,760.00	2,010,400.00	728.41	56,524.00	40,529,480.00	717.03
<b>Factory Total</b>		<b>2,760.00</b>	<b>2,010,400.00</b>	<b>728.41</b>	<b>2,760.00</b>	<b>2,010,400.00</b>	<b>728.41</b>	<b>56,524.00</b>	<b>40,529,480.00</b>	<b>717.03</b>
<b>Seller Total</b>		<b>2,760.00</b>	<b>2,010,400.00</b>	<b>728.41</b>	<b>2,760.00</b>	<b>2,010,400.00</b>	<b>728.41</b>	<b>56,524.00</b>	<b>40,529,480.00</b>	<b>717.03</b>

**Seller : FOREST HILL TEA (PVT) LTD****Factory : HT0012 FOREST HILL SPECIALTY HAND-MADE TEA FACTORY**

HT0012	FOREST HILL	3.00	84,000.00	28,000.00	3.00	84,000.00	28,000.00	39.50	1,127,000.00	3,531.65
<b>Factory Total</b>		<b>3.00</b>	<b>84,000.00</b>	<b>28,000.00</b>	<b>3.00</b>	<b>84,000.00</b>	<b>28,000.00</b>	<b>39.50</b>	<b>1,127,000.00</b>	<b>28,531.65</b>
<b>Seller Total</b>		<b>3.00</b>	<b>84,000.00</b>	<b>28,000.00</b>	<b>3.00</b>	<b>84,000.00</b>	<b>28,000.00</b>	<b>39.50</b>	<b>1,127,000.00</b>	<b>28,531.65</b>

**Seller : MARAKANDA TEA FACTORY(PRIVATE) LIMITED****Factory : MF1470 KARAWITA**

MF1470	KARAWITA	0.00	0.00	0.00	0.00	0.00	0.00	10,024.00	13,758,070.00	1,372.51
<b>Factory Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>10,024.00</b>	<b>13,758,070.00</b>	<b>1,372.51</b>
<b>Seller Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>10,024.00</b>	<b>13,758,070.00</b>	<b>1,372.51</b>

**Seller : WINMIN HOLDING (PVT) LTD****Factory : MF1327 SINGHAKAWAYA TEA FACTORY**

MF1327A	WEST PORT	3,800.00	3,031,400.00	797.74	3,800.00	3,031,400.00	797.74	86,215.00	64,396,500.00	746.93
MF1327	MOUNT LINTON	5,940.00	4,713,100.00	793.45	5,940.00	4,713,100.00	793.45	93,811.00	68,342,300.00	728.51
<b>Factory Total</b>		<b>9,740.00</b>	<b>7,744,500.00</b>	<b>795.12</b>	<b>9,740.00</b>	<b>7,744,500.00</b>	<b>795.12</b>	<b>180,026.00</b>	<b>132,738,800.00</b>	<b>737.33</b>
<b>Seller Total</b>		<b>9,740.00</b>	<b>7,744,500.00</b>	<b>795.12</b>	<b>9,740.00</b>	<b>7,744,500.00</b>	<b>795.12</b>	<b>180,026.00</b>	<b>132,738,800.00</b>	<b>737.33</b>

**Seller : Mr. P.K.I.VITHANA****Factory : MF1473 KELLAPATHA**

MF1473	KELLAPATHA	13,880.00	17,505,880.00	1,261.23	13,880.00	17,505,880.00	1,261.23	462,321.00	581,730,240.00	1,258.28
--------	------------	-----------	---------------	----------	-----------	---------------	----------	------------	----------------	----------

Mark	SellingMark	QTY	Weekly			Monthly			Cumulative	
			Proceeds	Avg. Price	QTY	Proceeds	Avg. Price	QTY	Proceeds	Avg. Price
MF1473B	NAVODA	730.00	540,200.00	740.00	730.00	540,200.00	740.00	71,730.00	53,339,540.00	743.62
<b>Factory Total</b>		<b>14,610.00</b>	<b>18,046,080.00</b>	<b>1,235.19</b>	<b>14,610.00</b>	<b>18,046,080.00</b>	<b>1,235.19</b>	<b>534,051.00</b>	<b>635,069,780.00</b>	<b>1,189.16</b>
<b>Seller Total</b>		<b>14,610.00</b>	<b>18,046,080.00</b>	<b>1,235.19</b>	<b>14,610.00</b>	<b>18,046,080.00</b>	<b>1,235.19</b>	<b>534,051.00</b>	<b>635,069,780.00</b>	<b>1,189.16</b>

**Seller : EVERGROW PLANTATION (PVT) LTD**

**Factory : MF0437 KANDADOLA**

MF0437	KANDADOLA	0.00	0.00	0.00	0.00	0.00	0.00	1,181.00	1,233,100.00	1,044.12
MF0437A	NEW KANDADOLA	3,570.00	5,601,400.00	1,569.02	3,570.00	5,601,400.00	1,569.02	108,899.00	180,234,370.00	1,655.06
<b>Factory Total</b>		<b>3,570.00</b>	<b>5,601,400.00</b>	<b>1,569.02</b>	<b>3,570.00</b>	<b>5,601,400.00</b>	<b>1,569.02</b>	<b>110,080.00</b>	<b>181,467,470.00</b>	<b>1,648.51</b>
<b>Seller Total</b>		<b>3,570.00</b>	<b>5,601,400.00</b>	<b>1,569.02</b>	<b>3,570.00</b>	<b>5,601,400.00</b>	<b>1,569.02</b>	<b>110,080.00</b>	<b>181,467,470.00</b>	<b>1,648.51</b>

**Seller : THILAKA TEA FACTORY(PVT) LTD**

**Factory : MF1359 THILAKA**

MF1359	THILAKA	4,518.00	5,667,120.00	1,254.34	4,518.00	5,667,120.00	1,254.34	207,330.00	273,965,780.00	1,321.40
MF1359A	PITUWALA	910.00	636,700.00	699.67	910.00	636,700.00	699.67	30,639.00	22,774,370.00	743.31
<b>Factory Total</b>		<b>5,428.00</b>	<b>6,303,820.00</b>	<b>1,161.35</b>	<b>5,428.00</b>	<b>6,303,820.00</b>	<b>1,161.35</b>	<b>237,969.00</b>	<b>296,740,150.00</b>	<b>1,246.97</b>
<b>Seller Total</b>		<b>5,428.00</b>	<b>6,303,820.00</b>	<b>1,161.35</b>	<b>5,428.00</b>	<b>6,303,820.00</b>	<b>1,161.35</b>	<b>237,969.00</b>	<b>296,740,150.00</b>	<b>1,246.97</b>

**Seller : ARISE GREEN LANKA (PVT) LTD**

**Factory : MF1474 PURERICH TEA FACTORY**

MF1474	PURERICH	6,336.00	9,488,700.00	1,497.59	6,336.00	9,488,700.00	1,497.59	102,508.00	161,199,780.00	1,572.56
<b>Factory Total</b>		<b>6,336.00</b>	<b>9,488,700.00</b>	<b>1,497.59</b>	<b>6,336.00</b>	<b>9,488,700.00</b>	<b>1,497.59</b>	<b>102,508.00</b>	<b>161,199,780.00</b>	<b>1,572.56</b>
<b>Seller Total</b>		<b>6,336.00</b>	<b>9,488,700.00</b>	<b>1,497.59</b>	<b>6,336.00</b>	<b>9,488,700.00</b>	<b>1,497.59</b>	<b>102,508.00</b>	<b>161,199,780.00</b>	<b>1,572.56</b>

**Seller : HIDDEN HILLS ESTATE PVT LTD**

**Factory : HT0020 HIDDEN HILLS HANDMADE TEA FACTORY**

HT0020	HIDDEN HILLS	0.00	0.00	0.00	0.00	0.00	0.00	10.00	100,000.00	10,000.00
<b>Factory Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>10.00</b>	<b>100,000.00</b>	<b>10,000.00</b>
<b>Seller Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>10.00</b>	<b>100,000.00</b>	<b>10,000.00</b>

Mark	SellingMark	QTY	Weekly			Monthly			Cumulative	
			Proceeds	Avg. Price	QTY	Proceeds	Avg. Price	QTY	Proceeds	Avg. Price
<b>Seller : NEW WEWELKANDURA TEA FACTORY (PRIVATE) LIMITED</b>										
<b>Factory : MF1436 WEWELKANDURA</b>										
MF1436A	WEWELKANDURA SUPER	7,640.00	11,765,400.00	1,539.97	7,640.00	11,765,400.00	1,539.97	279,274.00	442,860,470.00	1,585.76
MF1436	WEWELKANDURA	950.00	827,000.00	870.53	950.00	827,000.00	870.53	31,604.00	28,933,900.00	915.51
<b>Factory Total</b>		<b>8,590.00</b>	<b>12,592,400.00</b>	<b>1,465.94</b>	<b>8,590.00</b>	<b>12,592,400.00</b>	<b>1,465.94</b>	<b>310,878.00</b>	<b>471,794,370.00</b>	<b>1,517.62</b>
<b>Seller Total</b>		<b>8,590.00</b>	<b>12,592,400.00</b>	<b>1,465.94</b>	<b>8,590.00</b>	<b>12,592,400.00</b>	<b>1,465.94</b>	<b>310,878.00</b>	<b>471,794,370.00</b>	<b>1,517.62</b>
<b>Seller : JAWA CEYLON (PVT) LTD</b>										
<b>Factory : RT0671 Jawa Ceylon Tea</b>										
RT0671	JAWA SUPER	7,270.00	5,813,600.00	799.67	7,270.00	5,813,600.00	799.67	88,152.00	71,071,700.00	806.24
<b>Factory Total</b>		<b>7,270.00</b>	<b>5,813,600.00</b>	<b>799.67</b>	<b>7,270.00</b>	<b>5,813,600.00</b>	<b>799.67</b>	<b>88,152.00</b>	<b>71,071,700.00</b>	<b>806.24</b>
<b>Seller Total</b>		<b>7,270.00</b>	<b>5,813,600.00</b>	<b>799.67</b>	<b>7,270.00</b>	<b>5,813,600.00</b>	<b>799.67</b>	<b>88,152.00</b>	<b>71,071,700.00</b>	<b>806.24</b>
<b>Seller : ACU Agri Holdings (Pvt) Ltd.</b>										
<b>Factory : MF1284 NEW PANAWENNA TEA FACTORY</b>										
MF1284	NEW PANAWENNA SMALLHOLDE	1,810.00	2,897,000.00	1,600.55	1,810.00	2,897,000.00	1,600.55	55,231.00	72,264,390.00	1,308.40
MF1284A	NEW PANAWENNA	260.00	213,200.00	820.00	260.00	213,200.00	820.00	20,459.00	16,824,080.00	822.33
<b>Factory Total</b>		<b>2,070.00</b>	<b>3,110,200.00</b>	<b>1,502.51</b>	<b>2,070.00</b>	<b>3,110,200.00</b>	<b>1,502.51</b>	<b>75,690.00</b>	<b>89,088,470.00</b>	<b>1,177.02</b>
<b>Seller Total</b>		<b>2,070.00</b>	<b>3,110,200.00</b>	<b>1,502.51</b>	<b>2,070.00</b>	<b>3,110,200.00</b>	<b>1,502.51</b>	<b>75,690.00</b>	<b>89,088,470.00</b>	<b>1,177.02</b>
<b>Seller : THENNAHENA TEA COMPANY (PVT) LTD</b>										
<b>Factory : MF1488 KUKULEGANGA TEA FACTORY</b>										
MF1488A	THENNAHENA SUPER	3,590.00	5,113,000.00	1,424.23	3,590.00	5,113,000.00	1,424.23	9,980.00	14,693,400.00	1,472.28
MF1488	KUKULEGANGA	2,443.00	2,556,500.00	1,046.46	2,443.00	2,556,500.00	1,046.46	59,345.00	74,032,080.00	1,247.49
<b>Factory Total</b>		<b>6,033.00</b>	<b>7,669,500.00</b>	<b>1,271.26</b>	<b>6,033.00</b>	<b>7,669,500.00</b>	<b>1,271.26</b>	<b>69,325.00</b>	<b>88,725,480.00</b>	<b>1,279.85</b>
<b>Seller Total</b>		<b>6,033.00</b>	<b>7,669,500.00</b>	<b>1,271.26</b>	<b>6,033.00</b>	<b>7,669,500.00</b>	<b>1,271.26</b>	<b>69,325.00</b>	<b>88,725,480.00</b>	<b>1,279.85</b>
<b>Seller : SURIYAKANDA PLANTATIONS (PVT) LTD.</b>										
<b>Factory : MF0481 AIGBURTH TEA FACTORY</b>										

Mark	SellingMark	Weekly			Monthly			Cumulative		
		QTY	Proceeds	Avg. Price	QTY	Proceeds	Avg. Price	QTY	Proceeds	Avg. Price
MF0481	AIGBURTH	1,130.00	1,014,200.00	897.52	1,130.00	1,014,200.00	897.52	14,868.00	18,714,000.00	1,258.68
<b>Factory Total</b>		<b>1,130.00</b>	<b>1,014,200.00</b>	<b>897.52</b>	<b>1,130.00</b>	<b>1,014,200.00</b>	<b>897.52</b>	<b>14,868.00</b>	<b>18,714,000.00</b>	<b>1,258.68</b>
<b>Seller Total</b>		<b>1,130.00</b>	<b>1,014,200.00</b>	<b>897.52</b>	<b>1,130.00</b>	<b>1,014,200.00</b>	<b>897.52</b>	<b>14,868.00</b>	<b>18,714,000.00</b>	<b>1,258.68</b>
<b>Seller : RASOTA TEA FACTORY PVT LTD</b>										
<b>Factory : MF0124 RASOTA</b>										
MF0124C	VINTEE CTC	0.00	0.00	0.00	0.00	0.00	0.00	2,000.00	1,440,000.00	720.00
<b>Factory Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>2,000.00</b>	<b>1,440,000.00</b>	<b>720.00</b>
<b>Seller Total</b>		<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>0.00</b>	<b>2,000.00</b>	<b>1,440,000.00</b>	<b>720.00</b>
<b>Elevation Total</b>		<b>297,166.00</b>	<b>364,626,770.00</b>	<b>1,227.01</b>	<b>297,166.00</b>	<b>364,626,770.00</b>	<b>1,227.01</b>	<b>10,113,286.50</b>	<b>13,213,203,710.00</b>	<b>1,306.52</b>
<b>Grand Total:</b>		<b>722,664.00</b>	<b>847,218,460.00</b>	<b>1,172.35</b>	<b>722,664.00</b>	<b>847,218,460.00</b>	<b>1,172.35</b>	<b>25,960,264.00</b>	<b>31,421,467,469.00</b>	<b>1,210.37</b>